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Question Id : 5362282157 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Gro
: No

Question Numbers : (1 to 5)

Question Label : Comprehension

The following table embodies the details about the enrollment of students 1n five differen
streams namely IT, Management. Commerce. Science and Arts in a college during ths
session 2019-20. A total number of 3500 students including 1500 girls have been enrolled 1ir
the college. Based on the data in the table. answer the questions 1-5

Stream-wise enrollment of students

Stream Percentage (%) of students | Percentage (%) of Girls
enrolled (out of 3500) enrolled (out of 1500)
IT 20% 18%
Management 16% 12%
Commerce 12% 21%
Science 22% 11%
Arts 30% 38%

What 1s the total number of boys enrolled in Management stream and IT stream together?

1050
1120

1)
(3)

810
980

(2)
(4)
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5362288403. 3
5362288404. 4

Question Number : 2 Question Id : 5362282159 Question Type : MCQ Option Shuffling : No Is Question V.
Correct Marks : 2 Wrong Marks : 0

What 1s the ratio of the number of girls enrolled in Arts to the number of boys enrolled 1n
science?

(1) 14: 23 &2 233
(3) 114: 121 (4) 53:65

What 1s the total number of girls enrolled in Science and Commerce streams together?

(1) 450 (2) 495
(3) 345 (4) 480
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If 20% of the girls enrolled in Science change their stream to management, then what will b
the new number of students belonging to management stream altogether?

(1) 583 (2) 733
(3) 453 (4) 1003

The number of girls enrolled 1n Arts. Science and Commerce streams together forms wha
percent (%) of total number of students in the college?

1) 25% (2) 30%
(3)  40% 4) 60%
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T3 2019-20 % 2N UF HENG=EE § Ui Eiae S ama: A A, TseE, iy, fEEeE a9 wen
ot % afiaet % fawa o Frefofaa aifemr § fa o 1o ¥ 1500 seme afza fenfEr 6

3500 HEAT i HETG=Td | SIge ha1 797 | Giciehl = 3Aiesl % YW W UIH Hed 1.5 °9 @ 3
T —aw faenidE =
1 U9 (%) (3500 5 ®) | =1 ufdwE (%) (1500 9 o)
T A 20% 18%
PEDE] 16% 12%
ElER 12% 21%
s = 22% 11%
Foedl 30% 38%

vaeH faem qun s Ji fawm 0 v @y S F T e fEa 20

(1) 1050 (2) 810
(3) 1120 (4) 980
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T A Fifiger 5iF a1 See i T ° wen ° Fifiae oSt i HE w5 e e 2 Y

(1) 14:23 @ 2:3
(3) 114: 121 (4) 53:65

o v Aoy fawEl 9 v wy giae = A astEar 1 Fe g R 27

(1) 450 (2) 495
(3) 345 (4) 480
afe fagm fawg | ifigen o T 20 Sfwe TSR o194 @99 F 9899 § d2edi & a1 o6 o g6t

T & metaa faenfdat i Fer 73 S F= = e

(1) 593 @) 733
(3) 453 (4 1003
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5362288414.2
5362288415. 3
5362288416. 4

Question Number : 5 Question Id : 5362282162 Question Type : MCQ Option Shuffling : No Is Question V.
Correct Marks : 2 Wrong Marks : 0

w1, Tamm @ anfirsg 4 ifgen o Tt asfeat f 30 ge wefaes ° fanfaa ff 5 g -
o afaer (%) 27

1) 25% (2) 30%
(3)  40% 4) 60%

Which level of teaching uses higher level of cognitive abilities as specified 1n Bloom'

taxonomy?
(1) Memory level (2) TUnderstanding level
(3) Reflective level (4) Autonomous development level

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

5362288424. 4

Question Number : 6 Question Id : 5362282163 Question Type : MCQ Option Shuffling : No Is Question V.
Correct Marks : 2 Wrong Marks : 0

f91eq91 =1 T T TR s F I G A9 ST SEens T 7 T ) 2

(1)  =fE = (2) A T
(3)  Tamei == (4) =T fTFm =

The teaching strategy best suited to deal with students who in terms of performanc
readiness level are 1n the category of ‘able but unwilling’. will be,

(1) Assigning challenging tasks and delegation of roles

(2) Involving in tasks and providing soclo-emotional support with scope for recognition
(3) Mentoring and guiding with close supervision

(4) Keeping the tasks specific and soft
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Correct Marks : 2 Wrong Marks : 0

foare dear % w9 8 o Tl ‘maw wg ategs @ 42 w9 o gaites segea e o
Iz 7 .

(1) = HE T A g e e
(2) A § T A9 FETAFH- TR TG, THEE teeE 7w 9 F e w1 veE w5 |
(3) Tz ¥ wHEam & Wy W v -

(4) = wi fafEE g 5 = |

Which of the following are said to be the behavioural competencies 1n an effective teaching
behaviour repertoire?

(A) Self efficacy and locus of control
(B) Planmng and teaching

(C) Managing and monitoring

(D)  Ewvaluating and providing feedback
(E) Logical. clear and confident

Choose the correct answer from the options given below :
(1)  (B). (C) and (D) only (2) (A). (B) and (C) only
(3)  (A). (D) and (E) only (4) (C). (D) and (E) only
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5362288431. 3
5362288432. 4

Question Number : 8 Question Id : 5362282165 Question Type : MCQ Option Shuffling : No Is Question V.
Correct Marks : 2 Wrong Marks : 0

THE E-=EER % Tied § FHefaiad § 9 e saawiid aader #ar s ?

(A)  #eR T vg G F ot

(B) =TT ua foram
(C)  weegA ua wftiem (Aefefon)@we
(D) AT UF UAUE SUes HaE

[

(E) C rzirqr, e U.,E'F HIF=

(1) === (B). (C) 3T (D) (2) Faa (A), (B) 3R (C)
(3) A (A), (D) 31 (E) (4) Fa4 (C). (D) 311 (E)
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Given below are two statements :

Statement I: In a classroom assessment, a teacher finds that the distribution of student:
score 1s positively skewed. Hence, the mean of scores will be greater tha

median and median will be greater than mode.

Statement II : When the distribution of students’ score 1= found to be normal. all the thre

measures of central tendency coincide.

In the hight of the above statements, choose the most appropriate answer from the option

given below :

(1) Both Statement I and Statement Il are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I 1s correct but Statement II is incorrect
(4) Statement I 1s incorrect but Statement II 1s correct
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A= 31 oA o T E

Fo (I):  F&1 oA 3 01 &1 7 =1 2 5 it & st @ e awness w1 9 ey
3Fq: ST T AIEA, AieAH § ATGFH TN AR AEAHT A S | ATaS w6 |

FyA () : = faenfda & == #1 faaor | omn S 2 af s vae & ad 7 oam v
Fd |

IUgF FUAT AR A G [T § ¥ maitas S9gEd SO T

(1) = I3 I3 &= 7 |

(2 w1 3R [ @@ 98 7 |

(3  FuF I=E & g wuF 1L o9& 61 7 |

(4  =wu [ 58 79 2 g wea I a8 2 |

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled ¢
Reason (R) :

Assertion (A):  Teaching-learning systems to be effective must be carefully planne
adequately implemented and appropriately evaluated.

Reasons (R) : Effectiveness of teaching-learning systems 1s a pre-requisite for all leve
of education.

In the light of the above statements, choose the correct answer from the options given below

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(3) (A) 1= true but (R) 1= falze

(4) (A) 1s false but (R) 1s true
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Fr= 21 A fau o 2 faad @ v i sfises (A) 3R g5 w96 (R) e T 2

AR (A) - (ot LB B e e o e e 1 e O e A= o e e o e s
FATT=d 311 FEEd =9 5 gearsa =H1 9 |

7% (R) : foraqor—saferm wonet 1 warETerERar, e & wvi w0 F o ganfid 2 |

r - -, . - o s e s
IUIF FEAT T AEF ° FEEG [GFERed § 9 FangF 3999 I 9 ¢

(D (&) T (R) ZHE =AE #R (R), (A) Fi wE = E
@ (A 3R R) ZHE FE E T (R), (A) F = e 175 2
(3 (AT 2 T R) T T

@ (AT 2 g R) T R

Which of the following research focuses on enhancing the corpus of knowledge In a give

field?
(1) Action Research (2) Applied Research
(3) Evaluative Research (4) Fundamental Research
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Question Number : 11 Question Id : 5362282168 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0

FefefEd 8 ¥ H A1 SHE9H R 50 T A 9 99 % w g Jig w2

(1) A 9aae (2) =FEd FHETH
(3)  HEATHATHF ATEHEN (4) i SATETH

Which of the following research method employs internal and external eriticism for sifting s
evidences and data?

(1) Ex post facto method (2) Experimental method

(3) Historical method (4) Descriptive survey method
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e v sl % favemn =g Ferfeiaa win d@ sgmae e 1 sraies va awEl sresa w0 owEe

E IR
(1) e & (2) TEFTEF g
(3)  ufdmifoe fafa @) fammmes Tdem fafa

Identify the key features of qualitative research :

(A) Actual settings as the source of data

(B) Control, observe and measure as main operations
(C) Data take the forms of words or pictures

(D)  Concerned with participant perspective

(E) Hypothesis making and hypothesis testing

Choose the most appropriate answer from the options given below :
(1) (A), (C) and (D) only (2) (A), (B) and (C) only
(3) (B). (C) and (D) only 4y (C), (D) and (E) only

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com
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Question Number : 13 Question Id : 5362282170 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0

TCHF SR F T A o TR i
(A)  HATFST F A F =Y H GwAias TR
(B) WA " F w9 H m, siaeii va

(D)  TEEE UHuE | w1 Heied

(E) T ST a9 THeaaT i1 T2 A0
(1) =« (A), (C) 3 (D) @) A (A), (B) 3 (C)
(3) = (B). (C) 31 (D) (4) F= (C), (D) 3R (B)
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Given below are two statements :

Statement I: The population in research means a defined aggregate of something which 1

the focus of study.

Statement II: A sample 1s a sub-aggregate drawn from a defined aggregate to represent 1t.

In the hght of the above statements, choose the most appropriate answer from the option

given below :

(1) Both Statement I and Statement II are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I 1s correct but Statement II 1s incorrect

(4) Statement I is incorrect but Statement II 1s correct
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R g FA Remu E -

FoA (I):  FA9GE T TA9 F1 AT 2 999 7 0 0 49 ¥ gEtad guirtd Te=a |

Fo (ID) :  fdes vF 30-a9=99 = 59 3o Fefia =6 + oo o gfonfog oo @ fomn s 21

IHFT FAT o AT 1 FiEd Gent § O waifas 39gF I 91

(1) =9 I AR 29 =56 7
AT > B | A e e o A
(3) e 1TE ¢ g #uF T8 T 7 |

@ w1 5F A 2 g o I Eer 2 |
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Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled ¢
Reason (R) :

Assertion (A):  Research ethics 1s a must in order to lend credibility to the resear

findings and their use in authentic situations.

Reasons (R) : Application of ICT 1n research vouches for credibility of research results.

In the light of the above statements, choose the correct answer from the options given below

8y
@
3
@)

Both (A) and (R) are true and (R) 1s the correct explanation of (A)
Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(A) 15 true but (R) 1= false

(A) 1= false but (R) 1s true
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F 91 o T2 T 3 T ¥ v w1 ATEYA (A) i g # A (R) R E

AR (A) : FIHGH TR U Gt gietaT § 396 TE 6 EvaEEa wWE i F T
AIGIH | ATER HiE AEEE 7

T (R) : FEEGH # A H A F AT SFIEEE THOET i Avas=Ear w gEad w7
SUF FYAT F A B IR e § ¥ w30 I 9 ¢

(1) (&) =i (R) ZF =81 7 311 (R). (A) Fi w81 = 2 |

@) (A) IR (R)TH T E weg R), (A) A T = 1@ 2
(3  (A) = 2 v (R) W T 2 |

@ (A= 2w R) T

Immediacy of cues in communication 1s dependent upon one’s own

(1) Economic preferences (2) Cultural background
(3) Phys=ical fitness (4) Social expectations
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Question Number : 16 Question Id : 5362282173 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0

T § TeRAT Sl aTehiedT HE At 2, Bt =

(1)  onfd= ot = (2) TiEHfaH gEYiH W
(3) TmHiiE =R W (4) HHAITSF FUEIE W
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Which of the following methods help improve academic communication?

(A) Preference to vertical communication

(B)  Training individual students in commumnication skills

(C)  Restricting too much generation of information

(D)  Recognising cultural and hinguistic differences among students

(E) Opting for uniformity in using cultural symbols

Choose the most appropriate answer from the options given below :

(1 (A). (B). (C) only @) (C). (D). (E) only

(3)  (B).(C). (D) only (4)  (B). (D). (E) only
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ST FET § GUW A % o0 (etead ®i #1 Tt @een vl 7 7
(A)  IEATST HEEU ] A

B)  TEU 2T § d=iad® SEl B AP

(C)  F=a1 =hi sga AT Ieara =1 HTHa F

(E)  =WHia® TdH & TAr § HEEal & 999 H

Fr T2 o fembedi © @ wE I 9T

(1) =& (A). (B) @ (C) (2) #Fa= (C), (D) 317 (E)
(3) = (B). (C) 3T (E) (4) == (B). (D) #A (E)
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Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled ¢

Reason (R) :
Assertion (A):  Verbal Communication takes place in real time.
Reason (R) : Written communication 1s synchronous 1n character as 1t appears :

different intervals.

In the hight of the above statements. choose the correct answer from the options given below

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true but (R) 1s not the correct explanation of (A)
(3) (A) 1s true but (R) 1= false

(4) (A) 1s false but (R) 1s true
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2 21 o foo 2 o B o 8 e (A) iR TR A 7 (R) F TR

AT (A) Hifigw aEm aeEe | A E
T (R) : FIF a7 9= e ® TR BT R OSET AT Wl H o fiRagd JE

HAHI 71 7 |
I FHIAT F AAF | IR e § WA I 9

(1) (A) =R (R) ST T8 7 317 (R), (A) 1 =71 =m=1 7 |
(2 (A #T (R) I TEE A R), (A) T HE = w5 R
(3) (A=A weg (R) 7E 7 7 |

@ (A T R g (R) T R
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Identify the correct sequence of the emergence of the following publications :

(&)

(B)

(C)

(D)

(E)

Standard newspapers

News book

News sheets

Tabloids

Broad sheets

Choose the correct answer from the options given below :

(1)

(3)

(C). (B). (&4). (D). (E)

(A). (B). (C). (E). (D)

(2) (D). (E). (C). (B). (A4)

(4)  (B). (C). (D). (E). (A)

www.FirstRanker.com



:l », FirstRanker.com

A Firstranker's choice

www.FirstRanker.com

(A)

(B)

(©)

(D)

(E)

N T

AT (FIS) HAEE T

=R T

Jr= fau T oot 8 ® w8 3w g

(1)

(3)

(C). (B). (A). (D). (E)

(A). (B). (C). (E). (D)

(2)

(4)
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Match List I with List IT :

(A)
(B)
©
(D)

List I
(Systems of communication)
Western
Indian
Buddhist

Chinese

List IT
(Focussed elements)
(I) Non-competitive and co-operative
(II) Co-existence of binary oppositions
(III) Emotional variants

(IV) Rhetorical devices

Choose the correct answer from the options given below :

(1
(2)
(3)
@

(A)-(D. (B)-(IID). (C)-(IV). (D)-(ID)
(A)-(IV). (B)-(III). (C)-(I). (D)-(ID)
(A)-(ID). (B)-(IV). (C)-(IIT). (D)-(I)
(A)-(IV). (B)-(D). (C)-(IID), (D)-(ID)
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== -1 1 =111 5 Fafea i

(&)
(B)
(C)

D)

i T
(s 1 st

FeAfetEa fawen ® ¥ w8 3w 9w

8y
(2
(3)
(€))

(A)-(D. (B)-(IID. (C)-(IV), (D)-(II)
(A)-(IV). (B)-(II). (C)-(D). (D)D)
(&4)-(ID). (B)-(IV). (C)-(III), (D)-(I)
(A)-@V). (B)-(D). (C)-(IID), (D)-ID)

T=H1-11
(Fi=a w=aa)
@) W-vlaeraieas va qean

(D) g =marl ufdFaral #1 Aeuia

(III) F=Teas =g
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Three persons are walking around a ground. They take 20, 30 and 40 minutes to complef
one round. If they start from a single point together. they will meet again at that point after

(1) 1 hour (2) léhﬁur
(3) 2 hour (4) 2% hour

T =AU HgF 1 =9 9 TE 7 | 9 39 HeEM o U 99 E 8 HE9: 20, 30 #HE 40 52 w0 EE
od & | A3 3 Tt 1 T 7 T ° 2R URY Fd 7 A R TEE F A% 99 T™H W 1 He Y

(1) l=2-31g (2) 11 am

3 2=-am @ Eéﬁ%—aﬁ
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In a class of 65 students, 27 speak Hindi, 21 speak English and 17 speak Bangla. 7 spea
only English and Hindi. 6 speak only Hindi and Bangla and 5 speak only English an
Bangla. If 12 speak only Hindi then how many speak all the three languages.

@ b @ 4

(3) 3 (4) 2

65 farenfo=i anel v wen ® 27 fenefl 5= e 2, 21 el oush A # R 17 faendt awen s
21 7 Taenefl #ae s 310 &) oo 7, 6 Tl wam Tl AR swen sied 2 a5 faendt wae
AT F "e ied 7 | 32 12 el waw B wied 2 a e et wd Ji90 s e #

() 5 (2) 4
3y 3 4 2

The sum of four consecutive odd integers 1s 2160. The greatest of them 1s
(1) 327 (2) 429
(3) a3 (4) 641
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Options :

5362288489. 1
5362288490. 2
5362288491. 3
5362288492. 4

Question Number : 23 Question Id : 5362282180 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0

97 F i gur faram gt w0 3 2160 7 | 39H @ T 991 JEan wH-Hf w6

(1) 327 (2) 429
(3) 237 (4) 641

A two digit number 1s 4 times the sum of its two digits. The number that 1s formed b
reversing 1ts digits 1s 27 more than the original number. What 1s the number?

(1) 27 (2) 36
(3) 42 (4) 54
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Correct Marks : 2 Wrong Marks : 0

U 21 SAHETA] BEE A9 ST S 6 A0 " 4700 7 | $HE I 1 B S § a1 SEr go1 5
27 sAfta® 2 | T [ wan |

(1) 27 (2) 36
(3) 42 (4) bH4

The sum of the squares of three numbers 1s 83. while sum of their products taken two at
time 1s 71. Their sum will be

(1) 15 (2) 49
(3) 142 (4) 225
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i HEmA % A I 83 B | T @ UoE 91 HENEl e OEE H A0 717 | 59 geme

(1) 15 (2) 49
(3) 142 (4) 225

Which one of the following Pramanas 1s accepted in Vaisheshika philosophy?

(A) Pratvaksha

(B) Anuméan
(C) Upaméana
(D) S'abda

(E) Arthapatt

Choose the most appropriate answer from the options given below :
(1) (A) and (B) only (2) (B) and (C) only
(3)  (C) and (D) only (4) (A) and (D) only
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Question Number : 26 Question Id : 5362282183 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0

FeAferfigd @ o H -9 TH 4999 299 § =R 0 d B ¢

(4) woIH
B)  FFAA
(C) 3y9H
D) =
(B)  Zauif

= 73 ™ faFet 8 1 T8 I 96T

(1) === (A) 317 (B) (2) a= (B) 51 (C)
(3) A (C) 31 (D) (4) A7 (A) 3 (D)
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Match List I with List IT :
List I
(Concept/Doctrine)
(A) Pratityasamudpada (D
(B) Abhava (IT)
(C) Samyavastha (I1I)
(D) Adhvasa (IV)

www.FirstRanker.com

List IT
(School)
Vedant
Sankhya
Nyava
Buddhism

Choose the correct answer from the options given below :

(1
2)
(3)
@)

(A)-(D. (B)-(III). (C)-(IV). (D)-(ID)
(A)-(I). (B)-(IV). (C)-(I1I), (D)-(I)
(A)-(IV), (B)-(I1I), (C)-(11). (D)-(I)
(A)-(IV), (B)-(D. (C)-(ID). (D)-(IIT)
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Teft-1 1 F-11 8 gferd Fif
Tl T=1-11
(mwfr ) H-EI} (g:g_ﬁm}

(A) THTETEEEE @ =54
(B) 19 dn @A
(C) #=E=m (III) ==
D) == avy =itg

DO @-O. B)-dID. (C)-AV). D)-0D
@  (A-aD. B)-aV). (©)-D. ®)-O
@  (A-aV). ®-. (©)-1D. ®)-O
@  (A-av). ®-O. (O-aD. (O)-ID

In the figure of categorical syllogism. Quantity and Quality of a proposition determine :

(1) Validity of Syllogism (2) Mood of the Syllogism
(3) Figure of the Syllogism (4) Fallacy of the Syllogism
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Question Number : 28 Question Id : 5362282185 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0

i =raEE + et w=m § e afasifta g sii e Fefefaa § @ e Fait

EGiR A
(1)  =rEE e (2) =APEEE # e
(3)  —==EEE F U (4) —AHTF F EcATAE
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Match List I with List IT :
List I List IT
(Concept) (Philosopher)

(A) Phenomenon and Noumenon (I  Anristotle
(B) Potential and actual being (I) Descartes
(C) Mind and Body Dualism (IIT) Locke
(D) Primary and Secondary qualities (IV) Kant

Choose the correct answer from the options given below :

1 (@-@. (B)-D. (C)-aV). (D)-II)
2y (A)-ID. (B)-(I). (C)-(D. D)-(IV)
(3 (A)-AV). (B)-(D. (C)-aD). (D)-IL)
4 (A-ID. (B)-(IV). (C)-(ID). (D)-1)
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T=1-1 =1 g=hi-IT & gafea Hifao
-1 111
CEEEEILY (zreifeF)

(A) =T T TWEE @O ==

(B) THEA U9 FrAEE BT D) SFE

(C) T Ua W gAaR (D) =+

(D) TTHfEE T T T av) =m

Fr= fau o et § @ T I g

1) (A)-D. (B)-IID. (O)-IV). (D)D)
(2) (A)-ID. (B)-ID). (C)-@). (D)-(IV)
(3)  (A)-IV), B)-(D. (C)-(ID), (D)-(I1D)
(4) (A)-(ID. (B)-(IV). (C)-(III), (D)-(I)

According to the law of excluded middle :

(1) A proposition could be true and false simultaneously
(2) A proposition is either true or false

(3) A proposition 1s true if 1t 1s true

(4) A proposition 1s neither true nor false
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Question Number : 30 Question Id : 5362282187 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0

Atsd AL A ATEN

(1)  fosfe o =19 Ta 37 T 7 Tl 2 |
(2) Hﬁﬁfﬁmﬁﬂﬁ%HWWﬁ|

(3)  widsfd @E & =AfE T2 wE 7 |

(4) gz 9 |1 =Al # AT A B e |

An unsolicited e-mail message sent to many reciplents at once 1s a
(1) Inbox (2) Spam

(3) Virus (4) Attack
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Question Number : 31 Question Id : 5362282188 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0

FF TTAFAIS] I T G S T HE @S S-He S5 w2 #

(1) =z (2) wm

(3) FH=H (4) =A%

Given below are two statements :

Statement I: Operators are special symbols that are used to perform calculations. mal

comparisons and check logical condition.

Statement IT : Relational operators are used for arithmetic operations.

In the light of the above statements, choose the correct answer from the options given below
(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement II are false

(3) Statement I 1s correct but Statement II 1s false

(4) Statement I 1s incorrect but Statement I 1s true
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Question Number : 32 Question Id : 5362282189 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0

4= 21w e U E -

Fo (I): AT ferg udis 2 2 e w3 ofeees #0, o e @i arfds feafaat i 5= =+

Fo (ID) : Treiomet A & TE0 S0 A (et e ) F fom B = 2

ST AT F AT § R et 3 F HE I A
(1)  Fo= 1o 2 981 7 |

@ I #AR I3 e 2 |

(3) = I5eg 2 fohg o 11 7Terd 7 |

4 w1 o 2 g = 11T 2 |
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Given below are two statements :

Statement I : In peer-to-peer network, there 1s no central server instead each computer ca
act as a server as well as a chient.

Statement IT: LAN 1s a computer network created for individual person.

In the light of the above statements, choose the correct answer from the options given below
(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement II are false

(3) Statement I 1s correct but Statement II 1s false

(4) Statement I 1s incorrect but Statement II 1s true

www.FirstRanker.com



:l », FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

4= 3w Re u E -

woe (I):  wmariE (f 7 dim) Seask | 918 HeaE 5at A5 w5l 2 6ieh 3HE g9 Uedw e T
Wt 3N U FATEE % ®9 H L HHA

FoA (IT) :  LAN =afaa faeie 2q s34 791 Fo2t Hede 2 2 |
(1) o I3 a3 o8 2 |

(2  wu IR I 3H TTed 2 |

(3) e IEed & fohg =9 I 7T & |

@) = 1 wEea & fhg wae Lo 2

A computer network enables two or more computers to
(1) Increase the speed (2) Share data and hardware resources

(3) Increase the work (4) Monitor the software
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Correct Marks : 2 Wrong Marks : 0
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T2 FOALL A2 3 1 3l T AT FEgI i FEfatad 5 O 78 i § 549 99T 2

(1) wsweEd

(3) FHEEEHH

Full form of the abbreviation OCR 1s :

(1) Optical Character Recognition
(3) Optical Computer Recognition

e QCR &1 97 919 2
(1) Aol et RrTHTe
(3)  feel Fege fepmee

(2) ST AN ETSEAT HETGAT i WIS A
(4) TR Ff P e |

(2) Online Computer Reader
(4) Optical Control Reader

(2) e FgE
(4) wewer Hzie =t
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Question Number : 36 Question Id : 5362282193 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0

Which of the following countries has not signed/ratified the International Solar Allianc
Framework Agreement?

(1) Australia (2) United Kingdom
(3) Japan (4) China

Fferiaa ® | 68 591 7 TeeEe 9o AeEE $aaT U W EER 6 SAndE 6w 2

(1) sefeEn (2) FAEes fHrsm
G SR @ =m
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Question Number : 37 Question Id : 5362282194 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0

Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled a

Reason (R) :

Assertion (A):  Energy production from biomass has traditionally been considere:
carbon neutral.

Reason (R) : Carbon dioxide emissions from combustion of biomass are sequestered b

growing biomass
In the light of the above statements. choose the correct answer from the options given below

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are true but (R) 1s not the correct explanation of (A)
(3) (A) 18 true but (R) 1s false

(4) (A) 12 false but (R) 1= true
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e 21 HeE Eu e 2 | wF # SAfieeE (A) HR g8 i @ (R) TE TR

AR (A) AETETH T FA1 32 H TR T H HEA Zel JE 76 7 |
7% (R) : AAHE F SE H ScAlsd e SEHAFEES 1 (aehrETiiel SErHE g SO # fef
TR |

r W b A * ~ e e
IUIFd FUAT T ATAF ° G FFhed § § Jel 3 94

(1) (A) 311 (R) 91 981 2 3 (R). (A) F1 781 == 2 |
@) (A) = (R) 3 TE £ T (R). (A) F TE =mer 45 2
(3) (AT o (R) T = |

4  (A)7Ed & vl (R) w2

For wind power electricity generation which among the following type of rotors 1s mu
commonly used?

(1) Multiblade rotor (2) Propeller rotor

(3) Savonius rotor (4) Darrieus rotor
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Question Number : 38 Question Id : 5362282195 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0

I FEl 3eUEA £ HEAfAnEd § O fRE TR % Ui (T2T) A a1 T martas T 6 e a v

(1)  TeEeTs Tet (2) WYER T2
(3)  HEifEE T (4) == T
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Given below are two statements :

Statement I: Chronic toxic effects result from single dose of very high toxic substance

continuous exposure of sub lethal dose.

Statement IT : Acute toxic effects are long lasting and irreversible mainly caused due

prolonged exposure to toxins and survival rate 1s very low.

In the light of the above statements. choose the correct answer from the options given below
(1) Both Statement I and Statement I are true

(2) Both Statement I and Statement II are false

(3) Statement I 1s correct but Statement IT 1s false

(4) Statement I is incorrect but Statement II 1s true
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Hi=1 21 v T E
F9 (D) :  Frhl 31t faured 99y & (8e ST AY9al ST Oiae S % Hdd SIS okl TR Wi
foritet waa % =9 ° =t 2 |

Foa (ID) : @Iz famea o9 SaEtas i AT 20 2 | 3 THE o 999 a% [@ad TEei
OO § B " Widwield Bid 7 997 59 HEel J S = 5= 9 *hi 90 HH Bl 7 |

S9EFA FUAT T AR § R ST 8 H wa I A
(1) = [k [ =8 2 |

(2) = I3 2 e 7 |

(3) w15z g F9 1= 7 |

@) = I wEen & g #ee [ oE 2 |
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Which of the following goals are related to millennium Development Goals?

(A) Improving maternal health

(B) Controlling depletion of ozone layer

(C) Improving the life of slum dwellers

(D)  Creating smart city infrastructure

(E) Promoting gender equality and empowerment of women

Choose the most appropriate answer from the options given below :

(1) (A), (C) and (E) only )  (A), (C), (D) and (E) only
(3) (A (B). (C) and (E) only (4) (A, (B), (D) and (E) only

FefefEs o o $H-T 379 Heoate; e @51 § TEtad & ¢
(A) TG e § guR

(B)  3H WA § & Fi A w5

(C)  AfeH aIf==l ¥ 59 91 AFT & a7 G A

H= f22  fawel § 9 9F I 9h
(1) == (A). (C) 7 (E) (2) A (A), (C). (D) 311 (E)
(3) @A (A), (B). (C) 3 (E) (4) Fad (A), (B), (D) 31T (E)
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Question Number : 41 Question Id : 5362282198 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0

The Universities centered on the viharas during the Ancient India Period were situated at

(A) Navadeep

(B) Nalanda

(C) Valabhi

(D) Jagaddala

(E) Kanchi

Choose the correct answer from the options given below :

(1)  (A). (B).(C) only (2) (B), (C), (D) only
(3) (). (D). (E) only (4) (D). (E), (A) only
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U YA § T9ER SHied [avaieEmed Feteigg 9 ° 6 w9m w fTE 97

(A) FEEM

B) =D

(C) =

(D)  EgEe

(E) =i

(1) =& (A). (B). (C) (2) &= (B). (C). (D)
(3)  @ad (C). (D). (E) @) = (D). (E). (A)
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Arrange the steps followed in the process of value clarification :

(A) Students are presented with an 1ssue

(B) Students suggest alternative solutions

(C) Students express their feelings about each alternative
(D) Students consider the consequences of each alternative

(E) Students express their preferences and make a choice

Choose the correct answer from the options given below :
(1} (A, B). (C), (D). (E) (2) (@A), B). D). (C), (E)
3) (A, (C). (B). (D). (E) 4 (A). (B). (E). (O). D)
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o TASER T § SO SHHa =0T e
(A)  TEmeffE = v g T = 2

B)  Ta=meft awTE T g 7

(C)  Taen®fl we=r faehed & & 0 391 =AU T i 7 |
D) Tt u=F fahea = aiom W fa=m #d 2 |

(E)  Taremefl st mmufispame == #id & 3K U faseT 994 #

D A.®).(C). D). ® 2 R, (. ()
3 (A, (©). (B), D), (E) @ @.6.6. 0.0

As per the recent All India Survey on Higher Education. the Gross Enrollment Ratio (GER
in Higher education for the year 2018-19, in India 1s

1) 24.6% @) 25.6%
3  26.3% @) 27.8%
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Question Number : 43 Question Id : 5362282200 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0

e % TEg | 7 7 A FRU T s1REe 9Wa FEa F ATER, RA 9 99 2018-19 7 =4 e J w7
THTEA FIE (S W) B -

(1) 24.6% (2) 25.6%
(3) 26.3% (4) 27.8%

UGC portal ‘e-SARTS’ 1s for

(1) Special Assistance for Research in Technology and Sciences
(2) Special Assistance for Research and Training in Sciences
(3) Support for Academic and Research Training 1n Social Sclences

(4) Scholarship-Fellowship Award Registration Tracking System
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Question Number : 44 Question Id : 5362282201 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0

7 =1 # a¢e ‘e-STARTS' fi=ifcifiga g & forges fom 27
(1) == =i i 5 sEam = oo e @
(2)  Tasm o ofwem i e fo fae wmr |

(3)  TuH TasE d e ug g W = fere EmeE
(4) TR BN SETS eI 2 faem

An institution in the field of higher education desirous of getting the status of ‘Deemed to b
University’ has to fulfill the following criteria :

(A)  The institution must be at least 10 years old

(B) Its NAAC CGPA 1s atleast 3.26

(C) It figures in top 100 ranks of NIRF in overall category of institutions and universities
(D) Teacher student ratio in the institution 1s at least 1:20

(E) Number of teachers (faculty) 1s atleast 50.

Choose the correct answer from the options given below :

(1) (A). (B). (C) and (D) only (2) (B). (C) and (D) only
www.FirstRanker.com
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Question Number : 45 Question Id : 5362282202 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0

I W1e =& & | Ad favatamem (S g s gHaEtEd) w0 = 9e i sesT e arl e Een

(A) T F HE W FH ZH 99 T FA TiEe

(B)  SEF 4% (NAAC) 1 Hi =it df v %n @ %9 3.26 =

(C) Tt 37 favafaenemi i gau 47El 3 o3 9% 27 v % = 100 T § 399 99 2F =iE
(D) @ d Eerp-faensi seE #9 ¥ %9 1:20 =6 = |

(E)  forereri (g=m) =i = 8 @ %4 50 7 |

¥ 7 ™ Tt 8 O wE I 9

(1)  #= (A), B). (C) i (D) (2) #== (B). (O) R (D)

(3  Fa (B). (C). D) #1 (E) (4) F= (A). (C). D) ¥ (E)
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Question Id : 5362282203 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Gro
: No

Question Numbers : (46 to 50)

Question Label : Comprehension

Read the passage carefully and answer questions from 46 to 50.

People seldom continue to do things that do not provide positive reinforcement. eithe
through external reward or internal satisfaction. In addition to 1ts effect on the continuatic
of a particular behaviour, extinction can also have an emotional impact. We could predict. ft
example. with an excellent chance of being correct. that an emplovee will become surely, wi
complain more than before. or will have problems getting along with his co-worker
Emotional behaviour usually accompanies extinction when reinforcement or punishment :
withheld. Parents often extinguish behaviours umintentionally when they pay attention onl
when their children are behaving poorly. If parents pay little or no attention when th
children are behaving appropriately. they in a sense. put the behaviour on extinction. A chail
who wants attention — a reward — from the parents may be willing to endure what tk
parents think 1s punishment to get it. So. in the long run. the parents might be reinforein
inappropriate behaviour; yvet it happens all the time. This phenomenon 1s also very commo
1in the world of work. For example, a manager's work/group had responded well to a hig
task-low relationship. dealing firmly with inappropriate behaviour. Now suddenly this sty
1s not achieving results, and followers are being disruptive and making unreasonabl

demands. Positively reinforcing inappropriate behaviour generally results in more unwante
behaviour.
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What do people need to continue working for internal satisfaction?

(1) Some threat
(2) Some emotional reaction
(3) Some pleasant experience after the behaviour occurs

(4) Threat mixed with something pleasant

When a reinforcement 1s withheld from a worker. 1t may lead. inter alia, to

(1) expectation of getting something pleasant
(2) decrease in complaining behaviour
(3) expectation of threats

(4) evocation of negative emotions

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

Question Number : 48 Question Id : 5362282206 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0

When the unintended neglect of appropriate behaviour results in
(1) extinction of that behaviour

(2) seeking reward for appropriate behaviour
(3) positive reinforcement
(4) further occurrence of the original behaviour

Positively reinforcing inappropriate behaviour is an error because it results in

(1) continuation of inappropriate behaviour
(2) dropping of inappropriate behaviour

(3) misbehaviour

(4) negative emotions

www.FirstRanker.com



:l », FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

The focus of the passage 1s on

(1) reward and punishment policies 1n an organisation
(2) high risk relationship between managers and workers
(3) the managerial attitude towards workers

(4) the negative consequences of positive reinforcement
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fAfefEa Tenm = SEgEE Uied AT IHE ATUR W 9T T 46 T 50 9% F WAl 3 itad

[

=T W2 B 3 FA F FAA 7 (AH I TR T aEd TN AT SATanE T geT 98 0
SAteERTe gifeataat § @19 24 i 99EET TEd 5 I8 9@ Td 7 (9 i3 SATHEH] 359 Toid HeaIEe & ol
T 31 A E AU gF AW =Y 4 T e A 2 A9 31 ATFHal § 995 § 99e "ol 7

TPF =EeR T (96 & T 2 94 Teed 9YET 5% # 395g F EF J|l 2 | SiaerEs
=1Ed g0 it A sl % ==aEn F e i afifa J @ 3w # 9 o =9 g F o g w0 S1amn W

(i}

7 | T2 ATTHEET 35 90§ A "= 97EAE =EER UEE F E 7, B 91 T8 F e S99 2l B A

UF 3T T 30 SR & 9w F ufify § o 39 £ | 39 I O 99 = S4F 9l 5 STh9"E ga ue
i witfeafaai 9 5@ 9 % 9fd G O Aifee 56 FE 9 s S9gen H uEted 9 95 W E E
AT I =1 T9F =91 A1 2 | 97 Tt e S| ° o e Temm w2 2| ey, wEee o Ow

FEEE HYH HEHHA F Al IT9-FE U9 He-geY UHHE 919 B, ° =0 27 ¥ S9gER #Aa] & A9 °

FAATEAE SFER W eI U2 T & | ST I el aifod Ty T8 ¢ Uil 2 997 98 289 H Hen
2 T el faoes 1 gftwem © 317 9@ 2 o1 3 s g A gid =ed 2 ) gEt veel A seEE e
F THRIEF ffd H TEfed w1 A OHE 97 w7 7 T sanea 3R s sEneE =eaen 6w
TR
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AR 1 #ATafF GAfe =+ dad ®E J6 wg % foo e =fiw i 35w a6 27
(1) ot w=e i aaeh

(2) T 9EACHE Tl

(3) A TEER F T¥EE FAT AHETE AT

(4) TS gEs ufdiwa & @y auhl

o Tl SAMTFH H Wele i STa%g TR WAl & 1 SEeR UG 3 S 6 mU-Ey etengd 1

w4 = 27

(1) & T@s UH 1 TR

(2)  TorEEd = 9T ==EER § FHl
(3)  wmfwAT Hi TeEmEn

(4)  THEOHAD HEAHAT H IeES
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5362288586. 2
5362288587. 3
5362288588. 4

Question Number : 48 Question Id : 5362282206 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0

T=T ok TSP HEEn i Teerg =0 4 i susn fRu SW R afone S E
(1) 38 =9@sR & fa= |

(2) 37 =EER F fou weEn fi A9 we |

(3)  TEWIcHE TEed d

(4) TF =a= F 9= ° gfzd =9 0

THTICEH FY H Yaieid S0 AGER UF Yo 7 i sEshl ghoid w2

(1) A aeR TR T °
(2)  FITEF AR B A
(3) FFEER A

(49  TFERHF GEAE °
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5362288596. 4

Question Number : 50 Question Id : 5362282208 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0

SH TR FEATEd § H TR W S R

(1) Tt 9rea | e @R 95 gadt fifa «

(2)  TEEH SR ATIHEA F = P G T TGS W
(3) @Ay % via e =E

(4)  TFETEHF e F TRAEES 9
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Correct Marks : 2 Wrong Marks : 0

Which of the following methods will be most effective to educate public about handwashin;
practice as safety measure against COVID-19?

(1) Lecture (2) Demonstration

(3) Panel Discussion (4) Seminar

#ifaa —19 fawg g 30 % &0 4 @1 9H i 377d & a1 ° 590 i iaa w0 O Fefafaa § 9 a5

yafa Faifess ware gef?
(1)  =ITEIH (2) wegH
(3) U == (4) #=IIE
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In which of the following rates phase of chinical trial, randomized climeal trial 1s carried out

1 I @ 1I
(3) I 4 IV

Fartaes whien i Freferfiaa svewen O fomm O argfegs v = Jare ol fe s 27

1 I 2 1II
(3) I 4 IV

Which one of the following rates 1s defined as “the number of daughters a new born girl will
bear during her lifetime assuming fixed age-specific fertility and mortality rates™?

(1) Gross Reproduction Rate (2) Net Reproduction Rate
(3) Age Specific Fertility Rate (4) Total Fertility Rate
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5362288610. 2
5362288611. 3
5362288612. 4

Question Number : 53 Question Id : 5362282211 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0

U AT 1 39 Sfie whret d it sy farfine seaan s gey 2= sweun e g fnel e #
s @i, w Freferfea O @ s g afonfia 27
(1) HFATIH = (2) FEATTHE =

(3)  srg-fafsm ysmea & (4)  FHel g &

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

Which of the following 1s true regarding COVID-19 (Novel Corona Virus)?

(A)  More common in children and adult population

(B)  No specific vacelne 1s available to prevent the disease

(C)  Maintain atleast 1 meter distance from the person who 1s coughing or sneezing

(D)  Mortality Rate 1s higher i1n COVID-19 than Severe Acute Respiratory Syndrom
(SARS)

Choose the correct answer from the options given below :

(1) (A). (B). (D) only
2) (B (&), (C) only
(3)  (C). (B). (D) only
4 (D), (A). (C) only
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Fifdg~19 (Freet FRAT A=) % e 1 Fmfafaa o @ ad 27

(A) == 3N G T § 5 i 2F

B) 38 = =l T o fore fafare dedia = 3aere 3 g

(C)  IHealh 49 H %y | Hi. Fi g FA7 T S @i 31 @i @l

(D)  Fifag-19 1 gedat, 1R ofia vareas dewn (Fgm) (vd v s vl ) 6 e 3= 2|

(1)  Fad (A). B). (D)
(2 #F4d (B). (A). (O
(3 %A (C), (B). (D)
4) %4 (D), (A). ()

Which of the following communicable diseases used specific protection as a public healtl
intervention historically for the first time?

(1 Typhoid (2) Small Pox
(3) Plague (4) Cholera
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5362288619. 3
5362288620. 4

Question Number : 55 Question Id : 5362282213 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0

ufderfaen w9 @ fafire uftes sq ey seaam Fefafad 0 3 o g T d geell s agwd g7

(1) TIHEE (2) ==F
(3) el (4) F=m

Among the following, which Health Indicator 1s not included in Disability Rate?

(1) Years of Potential Lafe Lost (YPLL)

(2) Disability Adjusted Life Years (DALY)
(3) Health Adjusted Life Expectancy (HALE)
(4) Quality Adjusted Life Years (QALY)
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Correct Marks : 2 Wrong Marks : 0

Feferfiaa 9 4 Fma TR Hehas (.ol (Teavfaefidl) o d afmfoa 7287 27
(1) 398 &% UrefEe g ae (a5 9,060,

@  feaufufad stz ones dad (€uva o))

(3)  2oY USRS g UaHUFIH] (U9, 0.0 3. )

(@)  EId Uk ArEE 9 (FL0. U AT, )

The performance of individual countries for different components of PQLI 1s placed on whicl

scale?
(1) 0-1 (2) 0-10
(3) 0-50 4y 0-100
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1.9, U 378, % R H dafrheh w9 H 291 o 1 -varea 6 fore tue (6 ) woran s 27

(1) G ! (&) '0—-10
(3) 0—-50 (4) 0-100

Which of the following element of evaluation 1s assessed by an indicator — “The number o
1mmunizations provided 1n a vear as compared with an accepted norm™?

(1) Adequacy (2) Effectiveness
(3) Efficiency (4) Impact

“ush 4 1 YEH fohd 73 gicrerr o1 G i i Hadi o 51 qern il S 27 — 59 g9 g i ¢
fFeferfiaa fora @ =1 st s 27

(1) 9w (2)  wqri=a
(3) =l (4) 999
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Options :

5362288629. 1
5362288630. 2
5362288631. 3
5362288632. 4

Question Number : 59 Question Id : 5362282217 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0

Which one 1s not principle of primary health care?

(1) Appropriate technology (2) Community participation
(3) Equitable distribution (4) Health Education

e ey g| e # g Feafafiaa d g e 3 87

(1)  39geh dehedieh (2)  HmETRE Her
(3)  =rHETd faed (4) TarEe fEray
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Correct Marks : 2 Wrong Marks : 0

In all of the following situations. epidemioclogist uses incidence rate EXCEPT

(1)
(2)
(3)
(4

Planning the health and hospital services
Evaluating a prognostic factor
Evaluating the effectiveness of a screening programme

Evaluating the effectiveness of a preventive modality

U 1 Bred (eafefad gl srawens 4§ arfes 0 fams (e ) sma 51 %1 TEe 7 2

(1)
(2)
(3)
(4)

TR 3 SAPTAT (Eifered) Aanstl 6 gis= 99ET)
A FRF H Hod T F1|

ST Y o Tl %1 gedieA 1|

Fareen dr—iveh 1 wurEsiierd #1 geaiEa 1)
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Tubercle bacillus causing tuberculosis explains which type of causal relationship

(1) Necessary and sufficient (2) Necessary but not sufficient
(3) Sufficient but not necessary (4) Neither sufficient nor necessary

&1 T ATl Sfaiahcd STHer o6 TR & FROTeHS Had =l IR 1 2 7

(1) A=y 3 94T (2) SEwEF T I
(3) WA oife sEva=+ (4) ATATH 3 FATEIEF

What shall be the level of correlation. if calculated value of Correlation Coefficient (r) 1s 0.67

(1) High (2) Moderate
(3) Low (4) Absolutely No
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5362288647. 3
5362288648. 4

Question Number : 62 Question Id : 5362282220 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0

afe WeHE™ Ul (r) %1 Tkl W14 0.6 2, o Wedss =1 S 1 a8 ¢

(1) 3= (2) #HI4

@ = (4) o

The route of admimistration for 17 D vaccine 1s :

(1) Oral (2) Intra dermal

) Subcutaneous (4) Intra muscular
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Correct Marks : 2 Wrong Marks : 0
17 D 3= =1 fofd Wt & ehmrn <iren 27

(1) g (2) ¥Hd: ==y
(3)  HAgEI=E HaHi (4) Hd.03frg

Savlon 15 a combination of

(1) Cresol and Ethylene oxide (2) Cetrimide and Iodine

(3) Isopropyl alechol and hypochlorite (4) Cetrimide and chlorhexidine
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(1)  Tordiar sk vyefia siFEe (2) THUEE 3N AEEH
(3)  HIZHIUMIEA Ueshledl 3R EETEANiEe (4) HFurEe v FeTnEeTaeE

Which of the following method 1s used to collect data on behavioural aspects in WHO STEPf
approach for surveillance of msk factors of non communicable diseases?

(1) Chinical examination (2) Observation

(3) Interview (4) Investigation
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faeferfiaa | =g O wgfa o v swamd) sfa & sifan s e & o gey oa s & 2o
(STEPS) U¥i= # =yaeiits Tee3li W el o1 Usha 2 o foru g 27

(1)  Feras gdie (2) HIATFA
(3)  HIETeHR (4) it

In which method of economic evaluation 1s the cost compared with the benefits measured n

healthy vears?
(1) Cost Benefit Analysis (2) Cost Effectiveness Analysis
(3) Cost Utility Analysis (4) Cost Minimization Analysis

STl goarera il fobm gl | a1 deran s a6l § urd 1 e o W = S 27
(1)  =hrda ey fagero (2)  Fa wqrE i e
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Options :

5362288661. 1
5362288662. 2
5362288663. 3
5362288664. 4

Question Number : 67 Question Id : 5362282225 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0

The 1nfective dose of Vibrio Cholerae required to produce the climical disease is

organisms
1 10° (2 108
@ 1o¢ 4) 103

AT T 1 3e9a o o Tore Tafsr e o st i savas e G 2

(1) 10° & agh
3 10" 4) 10°
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Question Number : 68 Question Id : 5362282226 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0

In an entomological survey, a total of 85 fleas were collected from 20 rodents. Out of the tota
fleas. 40 were of Xenopsylla cheopis species. Xenopsylla cheapis index 1s

(1) 2 2y 2.4
(3) 2.25 (4 25

IS Halell Uk e 0 20 T2 (Fas aofl) et 85 g (wefrer) vera foe o) e g s 12
40 S SHaifs werfa of | ST gusiE 8-

1 2 @ 21
3) 2.95 @ 2.5
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After having a quarrel with her husband. a wife attempted suicide by taking sleeping pills.
Which kind of violence 1t 1s?

(1) Interpersonel Vioclence (2) Domestic Viclence

(3) Self-directed Violence (4) Collective Viclence

s el 3 3999 ufd 3 wete 3 ane e 1 mier @ gea e srereen w1 vaE fea | 97 fee v 2

(1)  sHadafss & @ e fm
(3)  w-Fafma (4) amfEe fEmm

The most common cause of traveller's diarrhoea 1s

(1) Salmonella (2) Shigella
(3) Enterotoxigenic E.Col (4) Campylobacter Jejuni
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5362288678. 2
5362288679. 3
5362288680. 4

Question Number : 70 Question Id : 5362282228 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0

AT H AR 1 g9l 9 SrHe FRE 7
(1)  Are™He @
(3)  svereiETSHE & e @ S e

One vear old child, weighing 8 kg. present with diarrhoea since 2 days. On assessment he
has some dehvdration. How much amount of ORS does he require for rehydration during
first four hours?

1)  200ml (2) 400 ml

(3) 600 ml (4) 800 ml

www.FirstRanker.com



:l », FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

Correct Marks : 2 Wrong Marks : 0
U 9N I qTeAsh, FoeE a9 8 fhetm 2, @1 faq 3 sifemn (srfen) 4 difza 21 geaea #a w38 e
Tttt e | e =R =21 o S1H 30 GESielTs o folu 41,590, ve. o 9 6 6l AEvasddl 2 7

(1) 200 faefefe (2) 400 fefieizz
(3) 600 Mefiefier (4) 800 fefrefier

Which 1s not true about Trombiculoid mite?

(1) 3 pairs of legs (2) It causes typhus

(3) It lives 1in so1l (4) It has nymphal stage
TS A1ge % WH A F 91 9E 6 87

1) H*H3gm (2) 3% FRV Afse s (TEFA) Bl 2
) B 1 e o AT SEH TR ST R
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Options :

5362288685. 1
5362288686. 2
5362288687. 3
5362288688. 4

Question Number : 73 Question Id : 5362282231 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0

Which of the following vitamin deficiency always occurs in assoclation with deficiency ¢
other vitamins?

(1) Thiamine (2) Niacin

(3) Riboflavin (4) Pyridoxine
frrerferfiaa § = @ faafum ) #d gt frerfim 6% my greed § a2 afed 227
(1)  gEdE (2) FamEs

(3)  WEEIRiE (4) rgfieta
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Question Number : 74 Question Id : 5362282232 Question Type : MCQ Option Shuffling : No Is Question |
Correct Marks : 2 Wrong Marks : 0

The second curve in the Growth Chart used 1n ICDS adopted by the Minmistry of Women anc
Child Development corresponds to which of the following parameter?

(1) Median (2) -2 Standard Dewviation
(3) —1 Standard Deviation (4) —3 Standard Deviation

nfeen i aret S v gr 9. 461 4 vA. O Hatg s d i as Fefataa i e & foo 27

(1)  Hifer=m (2) —2°He fa=gem
(3)  —14M fa=er (4) —39°H fa=eH
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Normal conversation produces a noise of

(1) 60 — 65 dB
(3) 60 —85dB

(2) 20-35dB
(4) 85dB

= ATa=iid | forad eafy zam 2l 27
(1) 60— 65 =g
(3) 60 — 85 2

(2) 20— 35 =Hiwd
(4) 85 =HEA

As per RCH program. what will be the minimum number of ANC visits that every pregnan
lady should get?

(1)
(3) 4

@ 3
@) 5
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5362288701. 1
5362288702. 2
5362288703. 3
5362288704. 4

Question Number : 76 Question Id : 5362282234 Question Type : MCQ Option Shuffling

Correct Marks : 2 Wrong Marks : 0
AT i v FEFE F AT el = v s o v e afzen #i fafsre faere anfae?

(1) 2 2 3
(3) 4 4 b

Which of the following 1s an indicator of population statistics?

(1) Sex-ratio (2) Mortahty Rates

(3) Fertility Rates (4) Life expectancy at birth

: No Is Question |
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Correct Marks : 2 Wrong Marks : 0
Trfeafiaa 4 @ =9 o S=eEn wiferd 1 g= 27

(1)  fem-sgum (2 TI=
(3) U (4) <19 = GoF Sfaq Teamm

If annual growth rate of a given country 1s 1.6, it can be rated as

(1) Moderate (2) Rapd

(3) Very Rapid (4) Explosive
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fg Terdl <o <l e 3f 51 1.6 2, 39 39 59§ 901 1 GFd1 2

(1) =4 (2 7z
(3) #fazd (4) faesid

The approximate magnitude of the completed family zi1ze can be revealed by

(1) Total fertility rate (2) Natural growth rate

(3) Crude birth rate (4) Net reproduction rate
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qui R ST o s T a1 gl foesh gr1 o dehd 27

(1) FdTHAH (2) uepfaeh gfg =

(3) Ao S & (4) 6 FH

A combined oral contraceptive method was started by 200 married women at the same timse
and continued by them without any break for 5 years. During this period. if 10 womer
become pregnant. the pearl index of contraceptive method in Hundred Woman-Years o

exposure (HWY) 1s
(1) 0.1 2y 1
(3) 10 (4 100
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e @ @il 1 e ugfd @1 wEwe 200 faatfed afeensti gr o & wwa W e R e iR ag e
e SRIAR S 2 d% =l 39 Hafa 4 afe 10 afzard adafq @1, @ oier-ad ({HWY) 3gaEa
e waid =1 vl e 2

1 0.1 @ 1
3 10 4) 100

All of the following are examples of Mass Approach for Health Commumication except :

(1) Folk media (2) Health Museum
(3 Exhibition (4) Role play

Fr=ferfiad | 4 #F w=re 9= o fau SHEgE 397 #1350 96 27

(1) == difzm (2) T HIET
et W Frn i o T M
) ELTiR]] L=x) '1!"'"‘”‘ L = 1 L4
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Options :

5362288721. 1
5362288722.2
5362288723. 3
5362288724. 4

Question Number : 82 Question Id : 5362282240 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0

All of the following are the Health Education Approaches except

(1) Service (2) Primary Health Care
(3) Regulatory {4y Feedback

faferfiaa O o v =1 i 0 aodi wareey foen saem 27

(1) &= (2) et ey SEare
(3) fafam= (4) wfagfe (FreeF)
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Correct Marks : 2 Wrong Marks : 0

What 1s the type of communication when 4 experts are invited from all over world to presen
and discuss their views on COVID-19 pandemic and its prevention strategies for Indi

infront of large audience. moderated by chairman?

(1) Symposium (2) Panel discussion

(3) Group discussion (4) Seminar

afe Fifd2-19 HEmH 3R a4 2l Hawo o & 98 9 920 Ge 4 397 o q02, 31598 & O
1, gegfa 34 o fero ot afran 3 4 fagiosi =61 simafza foran st 2 1 9 for wem o1 d=m 27

1)  faerrfeam (2) e ==
(3)  HHfes == (4) FHHERE
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The Health Index based on various indicators formulated by the NITI Aavog 1s divided 1nt
the following three domains except

(1) Health outcomes (2) Governance and Information

(3) Key 1nputs and process (4) Health economics

ifa strm gr e faie G w snaTfa e gadres # Fefataa 1 3 o v & fan fq gami
Teuer foram mrn 27

(1)  w=re gfomy (2)  SIEA A
(3) Y& HEH AW UED (4) TaTEe iR
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Which of the following was World AIDS Day theme of 20197

(1) Hands up for HIV prevention (2) My Health, My Rights
(3) Enow Your Status (4) Communities Make the Difference

fefctfiaa 4 4 s=a 2019 & fava vey foaa &1 4™ (gt fava) @7

(1) =318 . Fi Tehema & foe 219 5gn (2) H e, 1 AR
(3) sy ferfa = i (4) HYEE IREdH & &
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The GOBI campaign under the UNICEF 1ncludes which of the following strategies?

(1)
(2)
(3)
(4

Growth Chart. Oral Rehvdration, Breast Feeding. Immunization

Growth Chart, Oral Rehydration. Birth Weight. Immunization

Growth Chart, Oral Rehydration. Breast Feeding . Infectious Disease Prevention
Growth Chart, Oral Rehydration. Breast Feeding. Infant Mortality Rate

freferfiaa d | =i wHTiaa 1 gl = staia s 5. ard. affe 27

(1)
(2)
(3)
(4)

g =1, g@ H A Stefia, FHIH, e

afg =1, 9@ 4 qA-wrelirmo, 9 & qug 9, gfaefwm

gfg =1, Y@\ 1 e, TATH, dEme, | ) g
g =%, Y § [ STeAfF, TAE, B g &
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Health status indicator under the “Health For All” by 2000 AD includes all of the followin;

except
(1) Low Birth Weight Proprotion (2) Child-Women Ratio
(3 Disability Prevalence (4) Life Expectancy at Birth

B9 2000 7 “Bl = T TR & Adiid sy fefd Aehde o daia afafcm fafafaa ad 9 9 98

a7
(1) o9 % 599 9 91 3 HIm (2) ETR-aTToTe S
(3) TR y=er (4) =39 % H9g S geamEn

Sustainable Development Goal was launched on

(1) 25 September 2015 (2) 25 March 2015
(3) 25 June 2015 (4) 25 December 2015
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Options :

5362288749. 1
5362288750. 2
5362288751. 3
5362288752. 4

Question Number : 88 Question Id : 5362282246 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0

dd T/ =] 1 %" TRey faran may o7

(1)  2s5faas, 2015 (2) 259M,
(3)  25%H, 2015 (4) 25 g, 2015

1]
=
ok

n
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Which are the countries not included under WHO SEARO regions?

(A)
(B)
(€)
(D)

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4

Timor - Leste
Myanmar
Afghanistan
Pakistan

(A) and (B) only
(B) and (C) only
(C) and (D) only
(A) and (D) only

www.FirstRanker.com
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Eecy U I, UA § U, 317 37 &3 o STt FH H 591 T8 A 87

(A)  far e

(B) TIMF

(C)  HETH=aH

D) i

e fo2 4 faekedi 04 @&l 392 g

(1)  <had (A) 3l (B)
(2)  *ad (B) 3l (C)
(3)  Fad (C) 3 (D)
4)  FAEd (A) (D)

Where first conference on Health Promotion was held in Nov. 19867

(1) Ottawah (2) Jakarta
(3) New Dellh1 (4) Geneva
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5362288760. 4

Question Number : 90 Question Id : 5362282248 Question Type : MCQ Option Shuffling : No Is Question !
Correct Marks : 2 Wrong Marks : 0

Fa 1986 U wTEg 5944 W yeel FHiHE Fa g8 o7

(1)  #HEE (2) TFmEl
(3) A3 g (4) 4T
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Which of the following are true for Village Health Sanitation and Nutrition Committe

Organize Village Health and Nutrition Day every month

Female health worker works with VHSNC to develop comprehensive village healt

At least 50% members should be women

(VHSNC)?
(A)
(B)

plan
(C)
(D)

Recelve yearly untied grant of Rs. 20.000/-

Choose the most appropriate answer from the options given below :

(1)
(2)
(3)
(4

(B) and (D) only
(A) and (C) only
(C) and (D) only
(A) and (B) only

www.FirstRanker.com
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Trferfian U O 90 e U0 TEren | S ST O afafa (Fee g va ) & 9 d wh 27

(A)  ofeurE um =R S 9y ey 5 SR |

(B) Higell TR FEFd A TAUHUAH, F WY =AMNE AW WREE Gl ) T
Frell 2

(C)  =IAa| 50 widwrd \Wee wfgen 2= =nfau)
D) 20,000 92 1 AT du-iad THZH |

11 feir 1) farependi 1 4 Bl 3 0
(1) %4 (B) 31 (D)
(2)  Had (A) R (O)

(3)  %ad (C) 3 (D)
(4)  FEd (A) R (B)
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Which of the following are true about Evaluation?

(A)
(B)
(€)

(D)

Measures the productivity of available resources.
Make possible the reallocation of resources.
Helps 1dentifying deviation and taking corrective action.

Assess the achievement of the stated objectives of a programme.

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(A) and (C) only
(B) and (D) only
(A). (C). (D) only
(A). (B). (D) only
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feeafetfiara 9 & FHE F9a Yo & o) § 42 27

(A)  IUeTsY BHEEE] T IeITEe 1 3T A2 |

(B)  HENEHI & YA I U9 G 2

(C)  Tawreri il ve=m e 3 ganTes FHars i § T Fid 2 |

(D) N F Tl T 32w ) Wil 1 Yol F 2
et T2 8 fashed 1 @ |l 3w g

(1) e (A) 31T (0)

(2)  #ad (B) 3 (D)

3)  FAE (A). (C). D)

4 %44 (A), (B). D)
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A good message to transmit the information to audience for a successful communicatior

must be

(4)  Meaningful

(B) Fitting the Audience
() Cost effective

(D)  Culturally and socially appropriate

Choose the correct answer from the options given below :

(1) (A). (C). (D) only
(2)  (A). (B). (D) only
(3)  (B). (C). (D) only
(49 (A). (B). (C) only

www.FirstRanker.com



:l », FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

Hel a1 o Tole 3199 A1 o1 g1 T8 0 o for sr=a w61 == 2 =nfeu 7
(A)  segf

B) A FFEA

(C)  &rE-uyrEl

(D)  HTEHlae SR AEfsTs €9 # I
1 T3 7 faeped) 4 4 9l s g

(1) =& (A). (O). (D)

2 FAEd Q). B). D)

(3) A (B). (C). (D)

4) %A (A). (B). (C)
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Which of the following methods are used to calculate contraceptive efficacy?

(4)  Life-table analysis
(B)  Delphi-Technique
(C) Chandler Index

(D) Pearl Index

Choose the correct answer from the options given below :

(1)  (A) and (B) only
(2)  (B)and (C) only
3)  (C)and (D) only
(49 (D) and (A) only

www.FirstRanker.com
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freferfiaa | & form farferi =1 i aes = wardiarearan 1 o1 8 g fhan sran a7

(A)  EEH-Io UATTATHH

B)  =ohl-aH T

(C)  wsol 3-ead

D) Ud =T

el e v faepedi 1 9wl 390 9
(1)  =ad (A) 31 (B)

(2)  Fad (B) 31 (C)

(3)  ad (C) 31 (D)

(4)  @ad (D) 3 (A)
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Which of the following international agencies are supporting the family planning services?

(A) Ford Foundation
(B) Pathfinder Fund
(C) Rockefeller Foundation

(D) The Colombo Plan

Choose the correct answer from the options given below :

(1)  (A). (B) and (C) only
(2)  (B). (C) and (D) only
(3) (). (D) and (A) only
(40 (A). (B) and (D) only

www.FirstRanker.com
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Tereaferfi o 4 st staid s afem Farem dans a2 @ 20

(A)  HIE FBT3IH

(B) Y FEHE

(C)  Twbort HI3<9H

(D) & FicAdl w4

1t e ) fareped 3 9 ol g g
(1) % (A), (B) 31 (C)

(2) @A (B). (C) 31 (D)

(3) %4 (C), (D) 3 (A)

(4) @A (A). (B) 3T (D)
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Which of the following are non-invasive methods of contraception?

(A4)
(B)
(€)
(D)

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

Ehythm Method
Mirena
Pomeroy Techmque

Billings Method

(A) and (B) only
(B) and (C) only
(C) and (D) only

(D) and (A) only
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Fferfiad O | = m e i 97 Hafda ot 37

A) Trgrdus

@) o

(C)  WHTg e

(D)  fafcrm ez

| fasea e

(1) a4 (A) 31 (B)
(2)  @dd (B) 3T ()
(3)  &ad (C) 31 (D)
(4)  Fad (D) 3 (A)
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In which of the following health conditions. a medical surveillance 1= required for the use o

oral contraceptive pills?

(A) Chronic Renal Disease
(B) Cardiac Abnormalities
(C) (Gall Bladder Disease

(D) Breast Cancer

Choose the correct answer from the options given below :

1)  (@A).(C)only
(2)  (B). (D) only
(3)  (&).(B). (D) only
4)  (B). (C). (D) only

www.FirstRanker.com
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fafafaa # A w@re fafe 4 am f mifas mfe & soam # fou fafeen & B
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@)  gERIE O

(B)  #2d Il FTHHAN

(C)  Toemera |t T

@) & FE

1= T2 4 fashedl 4| w1 s AR
(1)  =ad (A), (O)
(2)  @Ed (B), (D)

(3) i (A), (B). (D)

(4)  #dd (B). (). (D)
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Following laboratory tests are carried out for the diagnosis of lead poisoning

(A)
(B)
(C)

(D)

Choose the correct answer from the options given below :

(1)
2
(3)
(4)

Amino acetic acid in urine
Basophilic stipling of RBC

Blood lead level

Coproporphyrin in urine

(A). (C) and (D) only
(B). (A) and (D) only
(B). (C) and (D) only

(A), (B) and (C) only

www.FirstRanker.com
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ST fawreran & fem & foao Frefafaa sarremen ohemer faro sma 27

(A)  UImE U v s

B) s . A e Emtem
(C) T U YT &1 T (Sad)

(D)  Ome H FHOOREfE

B ECR CRCET R R iR (EOF
(1)  #F4ad (Q), (C) 31 (D)

(2)  #4ad (B). (A) ¥ (D)

(3)  @Ad (B), (C) 31 (D)

@)  FEd (A), (B) N (C)
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The limiting aminoacid in wheat 1s

(A) Lysine
(B) Methionine
(C) Cysteine

(D)  Threonine

Choose the correct answer from the options given below :

(1) (A) and (B) only
(2) (B) and (C) only
(3) (A) and (D) only

(4) (B) and (D) only

www.FirstRanker.com
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E 1 38 spfiHmefas o i 2
(A) A
B)  dizEA
(C) Tz
D) 4HAAH
SIEREOR CREET R R R Gl (E D

(1)  Had (A) 31 (B)
@  Fad (B) 3 (O)
(3)  Fad (A) 3 (D)

(4) ¥4« (B) 31 (D)
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Diseases transmitted by louse are

(&)
(B)
(€)

(D)

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

Scrub typhus
Q fever
Epidemic typhus

Trench fever

(A) and (C) only
(B) and (D) only
(C) and (D) only

(A) and (D) only

www.FirstRanker.com
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(A) Thd 213F4
B) FH=
(C)  ufyfefi= 2wy
D) AF=
1 o2 72 faredi 0 9 92 3 g

(1)  ad (4) 31 (C)
(2)  ad (B) 31 (D)
(3) & (C) 31 (D)

4) a4 (A) 3N (D)
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Arrange the following equipment according to their capacity to hold the vaccines

(A)
(B)
(©)
(D)

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4

Vaccine carriers
Day carriers
Ice Packs

Ice-lined refrigerators

(B). (C). (A4). (D)
(C). (B). (A). (D)
(D). (B). (). (A)
(B). (&4). (C). (D)
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@A) Ao
B) < Hy
(C)  #AT2d Yo

(D)  HAEE-dAE-e sy
1 oo femred 1 & w3 g

(1 (B.(C). A). D)
2 (O). (B). A). D)
(3) (D). B (O). (A)
4 (B A). (). (D)
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Which of the following 1s true regarding “Blocked Flea™?

(A)
(B)
(C)

(D)

Efficient transmitter of Plague
It makes frantic efforts to bite and suck blood over and over again
A completely blocked flea 1s more dangereous than partially blacked flea

It may 1ngest upto 0.5 cu.mm of blood

Choose the correct answer from the options given below :

(1)
2
(3)
(4)

(A). (B). (D) only
(B). (C). (D) only
(A). (C). (D) only

(B). (A). (C) only
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seATFE Fell' o e W Frerferfiaa 99 = o 27

(A) T 1 HEY |

(B) Fe FAN-dAR S UHA 3R T g9 1 ST T4 Fal 2|

(C) s vl ‘serrFe well” ST serre well” § sfore " a2
D)  F= 0.5 FYfersh UH UY Ttk FH Akl 2 |

= foa ) famredi 48w g

(1) =& (A). B). (D)

(2)  Fa (B). (C). (D)

(3)  *ad (A). (O). (D)

(4) @@ (B), (A). (C)
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As per the expanded WHO case defimition for AIDS.

www.FirstRanker.com

adolescents. which of the following conditions are included?

(A)
(B)
(©)
(D)

Invasive cervical cancer
Chronic progressive Herpes simplex
Cryptococcal Meningitis

Candidiasis at the oesophagus

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(A). (B). (C) only
(B). (C). (D) only
(A). (C). (D) only
(A). (B). (D) only

www.FirstRanker.com
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U iR el | vgs i R o for geey v s, me i faeamia aftarn & sgEn Fefefaa 5
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@A) g waEEsd S

(B) i RifEa adffs faucras

(C) T aismsien

(D)  wrEAel 4 Hzafad

1 a2 3 faeredi 04wl I gRY
(1)  Fad (A)., B). (O)
(2) 44 (B). (C), (D)

(3) A€ (A). (C). (D)

(4)  FF (A), (B). (D)
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The objectives of a National Framework for Malara Ehmination in India are.

(A)

(B)
(C)

(D)

Eliminate Malaria from all 26 low and moderate transmission states/UTs by 2022

Interrupt indegenous transmission of Malaria by 2027

Reduce the Incidence of Malaria to less than 5 case per 1000 population per yvear b

2024

Prevent the re-establishment of local transmission of Malaria from eliminated area:

by 2030

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(B). (D). (A) only
(D). (A). (C) only
(C). (A). (D) only
(A). (C). (B) only
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qFA 8 T G IE SR & 0 329 8

(A) =9 2022 7 Al 26 = ST HrER SR 9T TS0/ AW - IEd a3 H HeliE i 3
(B) a9 2027 @ WeATET o Terier T 1 =i w0
(C) a9 2024 @ ufdad ufd 1,000 =1 S=eE 9 qAfEn & 994 #1 5 H %9 96l a9 92HET

M) 2030 % f9 &5 | gelfe 1 3ge T, 390 w1ide J=mn i qa.24941 6 Tham F |
1ol T2 faeped) O 9 vl 39 gfa

() % (B), (D), (A)

()  Fad (D), (A). (C)

(3) 44 (C), (A)., (D)

(4 FEE (A, (C). (B)
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Which of the following viral infections can cause diabetes in immunogenetically susceptible
people?

(A) Mumps

(B) Measles

(C) Eubella

(D) Human coxsackie virus B4

Choose the correct answer from the options given below :

(1) (A) and (B) only
(2) (B) and (C) only
(3)  (A). (C) and (D) only
(4 (A), (B)and (D) only

www.FirstRanker.com
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(A) H

B) ooy

(C)  Eslell

(D) =84 FEHE 9E B4

1l T T fahedl 4 9 |l 3 gHY
(1)  ad (A) 31 (B)

(2)  ad (B) 311 (C)

(8)  FAE (A), (C) 3 (D)

(4)

#de (A), (B) 31 (D)
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Which of the following are contraindication to use Bedaquiline (BDQ) in treatment o
Multidrug Resistant Tuberculosis (MDR-TB)

(A)  Age of patient = 18
(B) Pregnancy
(C)  Patient using hormonal based birth control measure

(D) Postmenopausal for past 2 yvears

Choose the correct answer from the options given below :

(1) (A, (B) only
2)  (B). (C) only
(3)  (C). (D) only
4 (D). (A) only
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(B)  IrsiaE

(C)  ae Tl il el svenfd s a3y % @

(D)  HHTE % 2 &Y =i = @08

Fr a3 7 faseal 44 | I g

(1) F&d Q). (B)

(2)  F9d(B). (C)

(3)  @a« (C). (D)
(4)  Faa (D), (A)
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Which of the following are methods to measure health gains for Cost Benefit Analysi
(CBA)?

(A) System analysis
(B) Social audits
(C) Human Capital approach

(D)  Willingness to pay approach

Choose the correct answer from the options given below :

(1)  (A) and (B) only
(2) (C) and (D) only

(3)  (A). (B) and (C) only
(4)  (B). (C) and (D) only
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(A)  wored] e

(B)  HTHTTSI gl

(C)  WHa Tl 3UFTH
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e fo2 ) faepedi 44 9l 39 g .
(1)  %ad () 31 (B)

(2)  F4Ed (C) 3 (D)

(3)  FAd (A), (B) M (C)

(4)  Fdd (B). (C) 3 (D)
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Which of the following biomedical waste can be collected 1n yellow coloured plastu
bag/container?

(A) Human organs
(B) Urine bags
(C) Broken vials/ampoules

(D) Dressings and cotton swabs

Choose the correct answer from the options given below :

(1)  (A) and (B) only
(2) (B) and (C) only
(3) (C) and (D) only

(4) (A) and (D) only
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(1)  ad (A) 31 (B)

(2)  ad (B) 311 (C)
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Which of the following are examples of Non-Probability Sampling?

(A)
(B)
(©)
(D)

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4

Lot-Quality Assurance

Snow-ball Techmque
Quota Sampling

Cluster Sampling

(A) and (B) only
(B) and (C) only
(C) and (D) only

(D) and (A) only
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(A)  eliz-wrfadl v
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(1)  =ad (A) 31 (B)

@) ¥ad (B) 3l (C)
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4)  Fae (D) 3 (A)
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Following are the advantages of sentinel surveillance

(A)
(B)
(C)

D)

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4

Reliable
Representative of general population
Accurate

Incidence can be calculated

(A) and (B) only
(B) and (C) only
(A) and (C) only
(B) and (D) only

www.FirstRanker.com
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1 i 3 fasredi 4 4w 3 i
(1)  =ad (A) 31 (B)

(2) A (B) R (C)

(3)  ad (A) 3 (C)

(4 % (B) 31 (D)

www.FirstRanker.com
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A Firstranker's choice
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Which of the following are the provisions of

“The Cigarettes and other Tobacco products (Prohibition of Advertisement and Regulation o
Trade and Commerce, Production, Supply and Distribution) Aect (COTPA), 2003.7

(A)

Ban on smoking in public places
Ban on sale of Cigarette to a person below the age of 21
Regulation of smoking scenes In movies

Ban on sale of tobacco products within 500 vards of education institutions

Choose the correct answer from the options given below :

(B) and (C) only
(C) and (D) only
(A) and (B) only
(A) and (C) only

www.FirstRanker.com
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A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

frfafaa sfafran & 39dg & 5 27

“fgmie 3 = damp 3 (fasmm ufowa 3 sum wg s, I@med, smafd st faemo
fafraes) sfafrn (& s @@ ), 20031

(A)  HEFHE e T g T ufEy

(B) 21 94 ¥ %9 g = =4k &I e 99 T 9 giEd

(C)  Theml O gudH & 399 & fafgmg

(D) siferss wemE1 500 412 % Yiew dames 3earel 61 fashl o ufe=y

= o m fasedi # 8 wd I 9

(1)  @aa (B) 3 (C)
(2)  %aE (C) IR (D)
(3) e (A) 3R (B)
(4)  =Had (4) A (C)

www.FirstRanker.com
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A Firstranker's choice
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Which of the following are considered as mortality indicators of health?

(A)
(B)
(C)

D)

Choose the correct answer from the options given below :

(1)
(2)
(3)

(4

Case Fatality Rate
Health Adjusted Life Expectancy
Years of Potential Life Lost

Expectation of Life

(4). (C) only
(A). (D) only
(A). (C). (D) only

(A). (B). (D) only

www.FirstRanker.com
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A Firstranker's choice

www.FirstRanker.com

fefetfiaad § 4 e w12 %1 Yoy & 5gae HHE] ST a7

(A) FHGFH

(B)  TaTee AU sfia Team
(C)  Hwfaa sfiaq a4 il &fd

D) S gerEn

1ol T2 faepedl 6 4 |l s g
(1)  *a (A), (C)

(2)  #FAEd (A), (D)

(3)  F4d (A), (C). (D)

(4)

*dd (A), (B). (D)

www.FirstRanker.com
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A Firstranker's choice _ .
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Following are the indicators used to measure the Physical Quality of Life Index (PQLI)

(A) Infant mortality rate
(B) Life expectancy at age one
(C)  Life expectancy at birth

(D)  Literacy rate

Choose the most appropriate answer from the options given below :

(1) (A) and (B) only
(2) (A), (C). (D) only
(3) (A). (D) only

4  (A).([B). (D) only

www.FirstRanker.com
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A Firstranker's choice _ .
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St =6 i Tqoraan e (4 7 ua 311E) 6l 0 & fon sgw S5 Hefafad § | #21 27
(A) PFmygs

(B) @Eﬁﬁ Nﬂmﬁaﬁﬂfﬂiﬂll

(C) =19 & Ty Sfiaq v=men

(D) =i =1

1 52 72 fasredi 0 4 gaifies 39 3 g
(1)  ad (A) 31 (B)

(2)  FEd (A), (C). (D)

(3)  #4ad (A), (D)

4)  #F4ad (A), (B). (D)

www.FirstRanker.com
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A Firstranker's choice _ .
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Which of the following International Health Agencies are having their Head Quarter ir
Geneva. Switzerland?

(A) International Labour Orgamzation
(B)  United Nations International Children’s Emergency Fund
(C)  World Health Organization

(D)  Food and Agriculture Orgamzation

Choose the correct answer from the options given below :

(1)  (B). (D) only
(2)  (A), (C) only
(3)  (C). (D) only
4 (B). (C) only

www.FirstRanker.com



» FirstRanker.com

A Firstranker's choice
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fereferfiaa O & T siavonda warea vsfaal 1 gerers sHan, wieseis 1 27

(A)  FaETHE oW HIE

(B)  Hgh MY A e smara feafa ffa
(C) Tava e gnga

D) T s FN FrEA

e foa ) fasredi 04 B 3w g

(1) =3 (B), (D)

(2) 4 Q). (C)

(3) %A (C), (D)

4)  %ad (B), (O)

www.FirstRanker.com
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A Firstranker's choice _ .
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Under the International Health regulation 2005, which of the following diseazes are unds

survelllance by the World Health Organization?

(A) Cholera
(B) Dengue
(C) Malama
(D) Louse-Borne Typhus

Choose the correct answer from the options given below :

1y (C), (D) only
2) (A, (C) only
(3) (B), (C) only
(4) (A). (D) only

www.FirstRanker.com
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A Firstranker's choice _ .
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AT @ faffrma, 2005 & dgd FEtatad § 8@ w6 6@ i fava @ wned f e

HE?

(A) &
® =1
(C)  TefEn

(D) EH A4d CEHH

3 e m Freredi § B B Iw Afw
(1)  %ad (C), (D)

(2)  *EE (A), (C)

(3) =% (B). (C)

4)  FHFA (A). D)
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A Firstranker's choice
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Match List I with List II

()
(B)
(C)

(D)

List I
International Health Agency

Hind Kushtha Nivaran Sangh I

Bharat Sevak Samaj (II)
Kasturba Memorial Fund (I1I)
Indian Red Cross Society (IV)

www.FirstRanker.com

List IT
Activity
Tramming of Gram Sevikas
Health Education for Leprosy Control

Providing relief in times of disasters or
emergencies

Improvement 1n rural sanitation

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(A)-ID). (B)-(IV). (C)-(I). (D)-(IIL)
(A)-(IID). (B)-D). (C)-(IV). (D)-(ID)
(A)-ID. (B)-(D). (C)-AV), (D)-(IID
(A)-II). (B)-AV). (C)-(ID). (D)-(D

www.FirstRanker.com
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A Firstranker's choice
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H1-1 %1 g=1-11 &% "2 gufea $ifa|
HAI-T HAI-11
(A) fZe Fu fRarm 59 (Iy  OTH Hierahs &1 gioerm
(B) YA Ta%F TETH (II) 8 70 & foe e e
(C) weal HaIfge w2 (ITT) sArer 3 sidra feafo=i 4 waa we &
(D) zfeTa 15 &g goEd (IV) T Ter=sen o Hon
44 fod m fawed 4 | w8 I g0
i1 (A)-(ID), (B)-(IV), (C)-(I), (D)-(III)
(2) (A)-(I1I). (B)-(D). (C)-(IV), (D)-(II)
(3) (A)-(II), (B)-(I), (C)-(IV), (D)-(1II)

(4)

(A)-(I1I), (B)-(IV), (C)-(II), (D)-(I)

www.FirstRanker.com
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A Firstranker's choice
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Match List I with List II
ListI Tast IT
Type of contraceptive Example
(A) Barrier (I)  Norethisterone enantate
(B) Oral Pill (I) Mirena
(C) Intra Uterine Device (ITII) Nonoxynol-9
(D) Injectable (IV) Gossypol

Choose the correct answer from the options given below :

(1) (A)-@). (B)-(ID). (C)-(II). (D)-(IV)
2)  A)-aD. (B)-(D. (C)-(I1V). (D)-(III)
(3)  (A-AV), (B)-(ID). (CO)-(D). (D)-(ID
4 (A)-dID. B)-IV). (C)-(I). (D)-(I)
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A Firstranker's choice _ .
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H1-1 %1 g=1-I1 % W gHfera i)
-1 ERIB I

T U FETE]
(A) S (D)  rufufeiE i
(B) @M =i e (I e
(C) 21 o713 TTHT0| (IIT) AT -9
(D) sSFeAd (IV) Tt
EIERCORIDRE e R R R o B

(1) (A-@. B)-ID. (C)-IID). (D)-IV)
2)  (A)-aD. (B)-(D. (C)-IV). (D)-(I1II)
(3)  A-AV). (B)-I). (CO)-(1). (D)-(ID
4  (A)-dID. B)-AV). (C)-(II). (D)-(I)

www.FirstRanker.com
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A Firstranker's choice
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Match List I with Last IT

(A)
(B)

(C)
(D)

List I
High Stationary
Early Expanding

Late Expanding
Low Stationary

(D)
(1)

(I1I)
(IV)

www.FirstRanker.com

List IT
Low birth rate, Low death rate

Birth rate tends to fall. Death rate
declines further

High birth rate. High death rate

Birth rate high. Death rate begins to
decline

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(A)-@). (B)-I1D). (O)-(III). (D)-IV)
(A)-ID. (B)-(II). (C)-IV). (D)-(D
(A)-(ID). (B)-AV). (O)-ID). (D)-(D
(A)-AV). (B)-(D. (C)-(11D). (D)-(ID

www.FirstRanker.com
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A Firstranker's choice

www.FirstRanker.com www.FirstRanker.com
H=1-1 o1 H=-11 1 guferd i)
-1 HH1-1T

(A) =B8R (D s, e gy

(B) HAae qoH (ID 4 <t e 2, geg 0 o i fimee 2 2

(C) facifer wam (III) 3= 94 2, 3 9eg &

(D) F=fen (IV) 3= &4 &1, yeg & 4 firrae s g5 2 e
A1 o2 faaredi 0 4 94 3 g
1 (A-D. B)-(ID). (C)-(III), (D)-(IV)
(2) (A)-(ID). (B)-(III). (C)-(IV), (D)-(I)
(3  (A-dID. (B)-(IV). (C)-(ID. (D)-(D)
4 (A-AV). B)-(D), (C)-(I1D), (D)-(ID)

www.FirstRanker.com
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A Firstranker's choice
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Matech List I with List IT

List I List IT

(Food) (Protein gm/100 gm)
(A) Milk (I) 3.2-43
(B) Meat (I) 18-26.0
(C) Eegg (III) 13.0
(D) Fish (IV) 15.0-—23.00

Choose the correct answer from the options given below :

(D (A)-@). B)-II). (C)-(III), (D)-(IV)
2y (A)-aD. B)-(D. (C)-(IID. (D)-AV)
(3)  (A)-(ID. (B)-aV). (C)-I). (D)-(ID)
(4 (A-1@. B)-IID. (O)-ID. (D)-IV)

www.FirstRanker.com
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A Firstranker's choice
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HefI-T o1 g=A1-I1 = | guferd i)

HeA-T 111

CIEE] T MW, /100 1.
(A) 3H I 3.2-43
(B) WA (I) 18—126.0
(C) #H=1 (III) 13.0
(D) "l (IV) 15.0—23.00
A1t i Fararedl B & | 3o g

(1 (A)-@. B)-ID. (C)-(ID), (D)-IV)
2y  (A)-AD. B)-(D. (C)-(IID. (D)-IV)
(3)  (A)-ID. (B)-IV). (O)-(0). (D)-(I)
@) (A-@. B)-I). (C)-ID. (D)-IV)

www.FirstRanker.com
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A Firstranker's choice
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Match List I with Last IT
List I Last IT
Diseases Food toxicants
(A) Neurolathyrism (I) Betaoxalyl amino alanine (BOAA)
(B) Aflatoxicosis (I) Sanguinarine
(C) Epidemic dropsy (III) Mycotoxin
(D) Endemic Ascitis (IV) Pyrrohzidine alkaloids

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(A)-@). (B)-IID). (C)-(ID. (D)-IV)
(A)-IID. (B)-AD. (C)-(D. (D)-IV)
(A)-@). (B)-(IV), (C)-(I1I), (D)-(IL)
(A)-(IV). (B)-(IID). (C)-(D). (D)-(1D)

www.FirstRanker.com



:l », FirstRanker.com

A Firstranker's choice
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-1 1 =A1-11 % = gifoa Hifs)

(A)
(B)
(C)

(D)

A1
(sfrarfeai)
=givdifafes
e

A1 it 7 e ) e g

(1)
(2)
(3)
(4)

(A)-(D. (B)-(I1ID). (C)-(ID). (D)-@V)
(A)-III). (B)-I). (C)-(D). (D)-(IV)
(A)-@). (B)-(IV). (C)-III). (D)-(ID
(A4)-IV). (B)-(III). (C)-(D). (D)-(ID

g1
REICAELEAtEY)
@ e srfferer spfe) verz (o)
(ID A
(ITT) wrEeieifFe
(IV) urEiifaEia e
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A Firstranker's choice
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Match List I with Last IT
List I List IT
Malariometric Indices related to human Interpretation
host
(A) Hypoendemic (). Spleen rate or ©parasite rate
consistently over 75%
(B) Mesoendemic (I) Spleen rate or parasite rate of 0—10%
(C) Hyperendemic (II) Spleen rate or parasite rate
consistently over 50%
(D) Holoendemic (IV) Spleen rate or parasite rate of 11-50%

Choose the correct answer from the options given below :

(1) (A)-IID). (B)-(I). (C)-(II), (D)-(IV)
(2)  (A)-av). (B)-1ID). (O)-(I). (D)-(ID
(3)  (A)-aD. (B)-(IV). (C)-(IID), (D)-(T)
@  A-av). (B)-D. (C)-ID, (D)-dID

www.FirstRanker.com
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A Firstranker's choice

www.FirstRanker.com www.FirstRanker.com
=11 %1 H=-11 o |12 qferd =it |
-1 qH1-11
(Betfistl diesh geerghd felee ¢ 2g 2 (e )
(A) EEIN=EHE (@  TefE 2 (vefrar gn) W Gamree 12 (avsiE 21)
IR 75 Tiae H FH 2
(B) HHU=ZH{ (ID) A @ 41 JWEEe @ 0-10 9ideE
Tdl 2|
(C) eErgmu-Efie (IIT) ©Ief T2 1 9Erge 12 «nan 5o ufawE 4
S EEA 2
(D) @Een-eiis IV) ®0efd @ I WmEe 2 11-50 YiawE
w2
1 24 el 4 4 |d 3w v
(1) (A)-IID). (B)-@D). (C)-(ID). (D)-IV)
(2) (A)-(IV). (B)-(III). (C)-(I), (D)-(IL)
(3)  (A)-ID. (B)-(IV), (C)-(I1D). (D)-(D)
4)  (A)-AV). (B)-(I), (C)-II), (D)-(III)

www.FirstRanker.com
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A Firstranker's choice

www.FirstRanker.com www.FirstRanker.com
Match List I with Last IT
List I List IT
Indicator for obesity Formula
(A) Ponderal Index O Weight (Kg)
Height.2 (m)
(B) Brocca Index an Ac.tual weig:ht
Dezirable weight
(C) Quetelet’s Index D) Height (cm)

(D) Corpulence Index

Cube root of body weight(Kg)
(IV) Height (cm) minus 100

Choose the correct answer from the options given below :

(1) (A)-dID. (B)-dD). (C)-(IV). (D)-(I)
(2)  (A)-aD. (B)-(IV). (C)-(II). (D)-(I)
(3)  (A)-AV). (B)-II). (C)-(D). (D)-(ID
4 (A)-ID. (B)-AV). (C)-(D. (D)-II)

www.FirstRanker.com
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A Firstranker's choice
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-1 %1 =TI = =2 gufaa Fifso |
g1 q=1-11
(A) UT=tel T O ar (T 1)
a2 (9. )
(B) il T i ATt 9T
qifed 91
(C) Fgeelz ol - s (@ i)
IR o 9T %1 =4 g (T6.am.)
(D) Fifein Y=l (IV) &fams (3. ) 51899 100
Feferfiad fored 49 w39t g

(1)  (A)-ID. (B)-D). (C)-(IV). (D)-(I)
2y (A)-dD. (B)-(IV). (C)-III). (D)-(I)
(3)  (A-AV). (B)-(ID. (C)-(D. (D)-IID
4 (A)-dID. (B)-AV). (O)-(). (D)-dD)

www.FirstRanker.com
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A Firstranker's choice

www.FirstRanker.com

Match List I with Last IT

(A)

(B)

(C)

(D)

List I

Crowd

Mob
Soclety

Community

(I)

(ID)

www.FirstRanker.com

List IT
A  social group determined by
geographical boundaries and/or

common values and interest

A large group of people gathered in
one place

(IIL) A large group. fairly umified and single

minded 1n its aggressive Intent

(IV) An organization of member agents

following a svstem of =ocial

relationship between individuals

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(A)-(D). (B)-(IID). (C)-(IV). (D)-(D
(A)-(ID). (B)-(II). (C)-(D). (D)-(IV)
(A)-ID. (B)-(IV). (C)-(D. (D)-(ID
(A)-@). (B)-ID). (C)-I1I). (D)-(IV)

www.FirstRanker.com
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A Firstranker's choice
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H=1-1 o1 H=-11 1 guferd i)
gel-I {111
(A) g (F132) () ffuiferss dwmed i /siga auF gedi Ua
(B) Idfa ofig (uie) (I) U ¥4 W U AN F1 921 5
(C) T (III) #94 HAFEHF Ie98 H TI0ad] Udidd i
(D) HYa™ (IV) =1 & "ey grrfsres ga09 6 goref] g
[EE] F[e| 1 HIEA
S RCORID R EE T R R et (B
(1) (A)-AD. (B)-IID. (C)-(IV). (D)-(D)
(2)  (A-AID. (B)-ID. (C)-(D. (D)-AV)
(3)  (A-AD. (B)-(IV). (C)-(D). (D)-(IIT)
@ (A-O. (B)-D), (C)-(I1D), (D)-IV)

www.FirstRanker.com
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A Firstranker's choice

www.FirstRanker.com

Match List I with List IT

(A)

(B)

(C)

(D)

List I

Epornithic
Anthropozoonoses
Amphixenosis

Zooanthroponoses

(D

(ID)

(IIT) An

(IV)

www.FirstRanker.com

List IT
Infection transmitted from vertebrate
animals to man

Infection transmitted from man to
vertebrate animals

outbreak of disease 1 bird
population

Infection 1s transmitted in both man
and lower vertebrate 1n either
direction

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(A)-@). (B)-(ID). (C)-(I1I). (D)-(IV)
(A)-(II). (B)-(II). (C)-(IV). (D)-(D
(A)-(ID). (B)-(D). (C)-(IV). (D)-dD
(A)-(IV). (B)-(II). (C)-(IIL). (D)-(D

www.FirstRanker.com
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A Firstranker's choice _ .
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Feef1-1 o1 H=A1-11 % | gt e |
i1 HA-II
(A) STRFIYF (D wHIrEh T9I31 H 9 H gETi Hhhol
(B)  UHIIISHTES (IT) |54 4 ekl 99]=] H FaTid dahmv)
(C) urfieHIfE (IID) vef st 4§ i o1 g
(D) U (IV) 5= vd f9e srgieefl 411 4 §H1 a0 | s
e fed wa faepedi O 5w 3 g

(1 A)-@. B)-(1D. (C)-(ID. (D)-IV)
2)  A)-ID. (B)-(ID. (C)-(IV). (D)-(I)
(3)  (A)-ID. (B)-1). (C)-(IV). (D)-(II)
4  (A)-OV). (B)-(ID). (C)-(III). (D)-(I)

www.FirstRanker.com
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A Firstranker's choice

www.FirstRanker.com

Match List I with List 1T
List I
(A) Community Health (I)
(B) Community Medicine (IT)
(C) Community Diagnosis (IIT)
(D) Community Treatment (IV)

www.FirstRanker.com

Last IT
“Steps decided upon to meet the health
needs of the community taking into
account the resources available and
the wishes of the people”
. the ©personal health and
environmental services in any human
community, Irrespective of whether
such services were public or private
ones’”
“The study of Health and Disease In
the population of a  defined
Community or Group”
“The pattern of a disease In a
community described in terms of the
important factors which influence this
pattern”

Choose the correct answer from the options given below :

(1
(2)
(3)
(4

(A)-ID). (B)-(D). (C)-(IV). (D)-(ID)
(A)-IV). (B)-(D. (C)-a1). (D)-IIL)
(A)-(I). (B)-(I1I). (C)-(IV). (D)-(I)
(A)-(IID). (B)-(IV). (C)-(I), (D)-D)

www.FirstRanker.com



» FirstRanker.com

A Firstranker's choice

www.FirstRanker.com

F=1-1 1 =-11 % e gufera i)

(A)

(B)

g1
EIRCIRERS 22 @

HrgETae iy (ID)

(C) dmErae fHEM (IIT)

(D)

GECIREERE L Iv)

1 fa2 ) farsedi § 3 w2 I g

(1)
(2)
(3)
(4)

(&)-(ID). (B)-1). (C)-(IV). (D)-(ID
(A)-IV), (B)-(D). (C)-(D), (D)-IID
(A)-1D). (B)-(I1I). (C)-(IV). (D)-(D
(A)-(ID). (B)-IV). (C)-D). (D)-(ID)

www.FirstRanker.com

HHi-11
“IucTed] HEEH1 1 S &l S=1El €A
i md 2 Gy il wEem gadi
AEvFars 1 qfd & foru Fan fuifa fH
EIGET
“fopddi wE wgEra 4 dafRE ERes ug
TE HeHl HaW, 918 A HaGr0 i 91
EEik T
“us qiariead qyad 41 5y o s g
TR S T AT |
“gyard H 34 Hecaqui 1l 3 ° afvid
Tl T = Ged, S g8 Y 6 wwrfaa #d
s

www.FirstRanker.com



» FirstRanker.com

A Firstranker's choice
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Arrange the steps involved in the investigation of an epidemic

(&)
(B)
(€)

(D)

Defining the population at risk
Verification of diagnosis
Confirmation of the existence of an epidemic

Rapid search of all cases

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(C). (D), (A). (B)
(A). (B). (C). (D)
(B). (C). (A). (D)
(C). (&). (D). (B)

www.FirstRanker.com
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A Firstranker's choice

www.FirstRanker.com

e Yerrl il g2dre d g =N w5 sgafed i

(A)  SAifiay T o SEE =) affia e
@) TEm# grarE

(C) vk wamm = feaea =i eywan

D)  asfi grae i i s

(1) (C). (D), (A). (B)

(2) (A4). (B), (C). (D)

(3) (B). (C). (A), (D)

4)  (C). (A), (D). (B)
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Arrange the following South East Asian Region Countries. according to their Jolning t«
World Health Orgamzation (WHO) 1in Chronological Order

(A) Nepal
(B) Thailand
() Indonesia

(D) Sr1 Lanka

Choose the correct answer from the options given below :

(1 (B A. D). (©)
2  (B).(O).A). D)
3 B A). (). D)
(4 (B). (D). (O). 4)
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gl qd ufirar &9 o fefefad 91 1 39 g fava wares dreq 1§ afmfod 24 % #esaan saafe
fifsro

(A)  FurE

B) gmEds

(C)  s=HEfEmME

(D) et

= oo e faskedi 4 & o 3o g

(1 (B). A). D). (C)
@  (B). (0. A). D)
(3)  (B).(A).(C). (D)
4 (B (D). (©).A)
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Arrange the steps involved in purification of water by rapid sand filter method

(A) Flocculation
(B)  Filtration
(C)  Back Washing

(D)  Coagulation

Choose the correct answer from the options given below :

(L (D). A). B).©)
2)  (A). D). ®).(©)
3 (B (A).(C). D)
4 (D). (C). A). (B
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e aireten Teeet wafd g i = sifearo 4w =T i sFafeem & ;

(A)  FellEeleH
B) freaisE
(C) == =fsm
D) A
Al faseq giu

(1) (D). @A), ®B).(C)
2) A). D). B). ()
(3) (B (A, (C). (D)
4 (D). (C). (A). (B)
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Arrange the following immunization milestones in chronological sequence from remote pas
to most recent.

(4) Universal Immunization Program

(B) Tetanus Toxold vaccine for pregnant women

(C) Expanded program of immunization

(D)  Vit-A supplementation

Choose the correct answer from the options given below :

(1) (D). (A).(O).(B)
2 B. D). &) (©)
(3 (A (O). D). (B)
4 (0. (B). A). D)
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Fopaferfiaa ufereqor deihi diet & e % 335 wrieaaa & ad & srgan ad a9 4 syafir fifso .

(&)  |EAEE g FEwn

B) e ufzensti % foru faoam aiaae f
(C)  wfcrer = faarica wrd#n

D)  fererfe v s et (Ao

1 fau o fampe 1 § 98 3o gfu ;

(1) (D). @A), (©). (B)
(2) B ([D). @A) ()
3) (A (O). D). (B)
4 (€. (B). (A). (D)
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Arrange the following causes of blindness according to their burden from lowest to highest

(A) Glaucoma
(B) Cataract
(C) Refractive Error

(D)  Surgical Complications

Choose the correct answer from the options given below :

1) (A. ). B). D)
2)  (B).(A). (). D)
3 (D). (C). B). (4)
4 (D). A).(©). (B
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HAMA o FeAfctfiad HroT & 3% a8 8 SuFTd 91 % SR afed fife ;

@) e

B)  FFe (arfaarfe)

(C)  Telbferea wwr (wererefi suferzm)
(D) ey fafFedr sfrem

1t fau o forpedi § & w8 3o g ;

(1) (A (C). (B). (D)
@ B @A), (). D)
(3) (D). (C). (B). (4)
4 (D). A). (). ®B)
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Arrange the needs of people according to “Maslow’s Hierarchy Theory” from basic to mor
refined

(A) Belongingness

(B) Hunger

(C)  Recognition

(D)  Secunty

Choose the correct answer from the options given below :

1) B.(C). D). A
2 (B). (D). A). (C)
3 (©).(®B). D). &)
@ (©. ). ®B). D)
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UHel o Iehd FIETd o STEE AR ol Ayl %1 getdd | S it o F9 4 59

(A) A

(B) &=

(C)  wFEl

D)  Hiam

41 feru 1o fermedi 1 & w4 3 g -

1 (B). ). D). A
2)  (B). D). A). (©)
3 (0. (B). D). A
4 (O &), B). D)
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Arrange the following examples of preventive interventions according to increasing level o
prevention

(A) Mammography

(B)  Habit of regular exercise since childhood

(C) BCG vaccination

(D)  Prowviding spectacles

Choose the correct answer from the options given below :

1) @. D). (). (B
2) (B (0. A). D)
3  B.(C). D). (A
@  (O. D). ). B
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LU o Tl o Heafciliad 38T =l Ty T & dad 9§ sgafed Fife .

(A)  Hgmrd

B)  aTcaTEEY | Hafd saEm 6 e
(Cy =1 =i Sf FrwreRTon

(D) =99 9gH Al

4 oo e fasedi 4 8w 3 e

(1)  (A). (D). (). (B)

(2)  (B). (C). (A). (D)

(3)  (B). (C), (D). (A)

(4)  (C). (D). (A). (B)
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The correct sequence of events leading to disability according to their severity (lowest t
highest)

(4)  Impairment

(B) Disease

(C)  Handicap

(D)  Disability

Choose the correct answer from the options given below :

(L) (B D). &) (C)
(2) (B). (A). (C). (D)
3) (B &), D). (©)
4  (B).(C). D). (A
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I =HAIH| 1 HE FH FdE, | HoH s=ved (Heae U =) & sHEr Famea (feaefafed) @ oar
&) afd

®)

(€) e (&)

@)  faarehan (femofaferd)

H14 e e faaredi | 4 o 3o 9o

1 (B). D). A). ()
2)  (B).(A). (). D)
3  (B). (A, D). (C)
4 (B).(C). D). A)
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Arrange the following stages of Life Cycle of Malaria Parasite beginning with Asexual Cyecle
to Sexual Cyele

(A) Zygote
(B) Sporozoite
(C) Gametocyte

(D)  Trophozoite

Choose the correct answer from the options given below :

(1)  (B).(C). D). (A)
2 B. D). (©O).&A)
(3 (D). B).(C). (&)
(4 (D). (©).B).A)
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Heffra usidl o Sfieq s o Fefcfiad ywn 1 seifits = 8 sy #3739 20 ok =% % %0 4 sgafi
Fifau

(A)  ER

(B) TR

(C) MR

D) e
= fau o faeredi O & |d 3w 9fw

(1) (B).(C). M) A)
2 (B (D). (). A)
(3) (D). (B). (). &)
4 (D). (C). B). A)
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Arrange the clinical manmfestation of filariasis according to severity

(A) Asymptomatic
(B) Epididymo orchitis
(C)  Hypertrichosis

(D) Elephantiasis

Choose the correct answer from the options given below :

()  @). ). ®B). D)
(2) (A, [D). (©). (B)
3)  A).(B). D). ()
@ (A [D). ®B).(©)
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(A) e ifza

B) ufierEEren Akl

(C)  =rdreaitas

D) uferh-dufas (z1efl uE)

1 fqu T fasheai 4 4w 39 v
(1) (A). (C). (B). (D)

(2) (A). (D). (C). (B)

(3) (A), (B), (D). (C)

(4) (A), (D), (B). (C)
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Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled a

Reason (R).

Assertion (A):  Concept of germ theory of disease gained momentum during 19™ and earl

part of 20 Century.

Reason (R) : This 1s due to reason that emphasis had shifted from empirical cause (bad

alr) to microbes as the sole cause of the disease.

In the light of the above statements, choose the most appropriate answer from the option

given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 18 NOT the correct explanation of (A)
(3) (A) 1s correct but (R) 1s not correct

(4) (A) 1s not correct but (R) 1s correct
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e 21 aeA e e 2| usk o sifaead (A) 3T g5 I a9 (R) FE TR |

FfiRad (A) ; 19 =i wl 3017 20 = | o qaie U T S frgra ) gsean Al 8@ sn g i
T (R) : SHF] FRV 42 2 T Hafas o (S g) 3 e 22 gaasiial 1 T v )
FHONeH a1 9 sfel T s |

IR A o ATl 1 Feifra fasmed 4 8 waffos 3076 39 94

(1) (A 3/ (R) TEEE 2 3 R). (A) F Hl =aremn 21
(2) (A 31 (R) TH1 &E 2 W= (R). (A) il #& samea 48 2)
(3)  (A)Hd 29 (R) &2 421 21

@) (A @ FE 2 ueg R) w2
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Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R).

Assertion (A) : Pasteursation of milk kills bacteria in milk.

Reason (R) : EKills only 90% of bacteria including the heat resistant bacillus and the G

fever organisms.

In the light of the above statements, choose the most appropriate answer from the option:

oglven below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3) (A) 1= correct but (R) 1s not correct

(4) (A) 18 not correct but (R) 1s correct
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e 219 feu e 2| vk o sfaeda (A) 3 g F T (R) FETE1E

Al (A) : @9 o arseiEd 30 ST T g9 o SfEm) 9 e 2

# (R) : AU el 90% Siramy wid 2 fomd g wfdivas afaerm sin e 71 % Sfa wfie 21
TP A1 o STerle § HerferRa fasedi 4 | waifoer s 39

(1)  (A) 3R (R) &H1 581 2 311 (R), (A) =l @l samzm 2

(2) (A 3 R) FHT 6 T W (R). (A) 1 92 s 47 2

(3) (A=l 2 (R) |l 4E 2
(4 (A)HAFE 29 R) w1 2
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Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled a

Reason (R).

Assertion (A):  Prevention of undesired pregnancies in adolescents through educatio
programmes dealing with responsible sexual behaviour i1z a major publ
health challenge.

Reazon (R) : Adolescents are ambivalent about family planning and requestin

contraception shall suggest revealing their sexuality.

In the light of the above statements, choozse the most appropriate answer from the option

g1ven below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 18 NOT the correct explanation of (A)
(3) (A) 1= correct but (R) 1s not correct

(4) (A) 18 not correct but (R) 1s correct
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Tl 21 %o fau T 2| vsk i wHiuse (A) 3R g5 Fi @ (R) F=112)

HfireRerd (A) : IFET 9 SaaEr | datad e wEEal & aean G fEe 4 sraad naiaE fam
ST Treg i vk 921 I 2

% (R) : TergtR witam s o afd s 6 feufa 0 26 2 s 3= nd - =1 g2ne & -
gitumEEy 3 AAfeafa s g g

I | o STl § HeerRd fasedl 4 | waifoes sugd 9T |

(1)  (A) 3R (R) gH1 91 2 310 (R), (A) =il |el =3z 2

(2) (A 3 (R) gH1 9 2 9 (R). (A) 1 92 s 44 2
3 (AR R) T2

49 (A E 29 (R) w2
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Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled a:
Reason (R).

Assertion (A):  Rheumatic fever 1s typically a disease of childhood (5-15 yrs).

Reason (R) : Bheumatic fever 1s caused by Group B streptococcal infection. Tox
products and components of the streptococcus and of host tissues have ar
antigenic cross relationship, leading to immunological process that resul

1n an attack of Rheumatic fever.
In the hght of the above statements. choose the correct answer from the options given below

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are true but (R) 1s NOT the correct explanation of (A)
(3) (A) 1= true but (R) 1s false

(4) (A) 1= false but (R) 1s true
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A1 21 fau e 3| vk i sivse (A) o g9 F1 9d (R) Fa1 71 2)

T (A) - T S etd: sSfedrEl 4 SHare 1 21 (5 9 15 949 6l 511y 7)
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14 Hel ™ 211 2 Foreeh aftomassy gfdreqo aiswn & weras Siaard e 300 20 ¢

I el o STl § feifra fasedi § & waffis 3oy 39 94 -

(1) (A) #r (R) TETHE 2 31 R). (A) F F21 =3rE 2|
2) (A IR (R) TH FE & T (R). (A) a0 e T4 2
(B) (A wE 2y (R) w7 2

(4) (A HE A 2 9] (R) 91 2
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Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled a:

Reas=on (R).

Assertion (A) : In order to reduce the various kind of bias “blinding” 1s adopted. which wil

ensure that the outcome 1s assessed objectively.

Reason (R) : Blinding shall increase the power of test and also value of Design effect

So. there are more chances of significant outcome.

In the light of the above statements, choose the most appropriate answer from the option:

given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 18 NOT the correct explanation of (A)
(3) (A) 12 correct but (R) 1= not correct

(4) (A) 18 not correct but (R) 1s correct
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Tl 21 e feu T 2) vk i H{Wa (A) 3R g6 Fi aah (R) F=17712)

FfqFed (A) ; iyt (sram) & 99 9=r =60 9 %19 & F9 9 A7 (saAnfEn) # aeo fw
St gifrera som ok afom =6 aeqfe gn 3 gt fora )

a4+ (R) : AFHA (Sesfen) wWisw Fi ik @ AR U 99E & 4ed d off afg o gafen
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39 F9H1 & Aot ° i fawedi 9 & gaifaes sugs 39094

(1) (A 3 (R) gH1 9& & 30 (R), (A) il 521 =3 2

(2) (A 3R (R) THHE & T (R). (A) Fl 92 sare 72 2|
(3) (A 4@ 2 W (R) |96 421 2

@) (A =& A e ®) 52
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Question Label : Comprehension

Read the passage carefully and answer @.No. 91 to 95 that follow :

In a civil hospital of City A. there were 500 live births in the vear January 2019. Out o
which 100 infants had birth weight less than 2.5 kg. Observing high proportion of low birtl
welght babies, an epidemiologist decided to do a study to find out the association betweer
birthweight and infant deaths. A study design was developed and all 500 infants wers
followed up for one year. At the end of one yvear, 24 infants died among 500 infants who werx
under observation. Out of 24 deaths. 16 deaths were observed among low birth weigh
bables. After the analysis. Epidemiologist concluded that low birth welght infants are a
higher rsk of dving than normal birth weight infants.

What type of study design was developed by an epidemiologist?
(1) Case control (2) Cohort

(3) Cross Sectional (4) Descriptive
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Which of the following 1s an advantage of a such type of study?
(1) Recall bias 1s minimized (2) Costis less

(3) Single outcome can be studied (4) Suitable for the rare disease

Which of the following rate 1s calculated with this study design?

(1) Prevalence rate (2) Incidence rate

(3) Fatality rate (4) Proportional mortality rate

Which of the following parameter was used by epidemiologist to assess the “Strength o
assoclation™?

(1) Odd’s Ratio (2) Attrbutable Risk
(3) Relative Risk (4) Population attrmbutable Risk

www.FirstRanker.com
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5362288975. 3
5362288976. 4

Question Number : 145 Question Id : 5362282304 Question Type : MCQ Option Shuffling : No Is Question
Correct Marks : 2 Wrong Marks : 0

What 1s the attrbutable risk observed in the current study design?
(1) 68% (2) T4%
(3) 78% (4) 88%

freferfiad mrame =1 ufeu iR gae e {22 1wl % s : 91-95

WU o U frfaer srevdret staadl 2019 9 s00 Sfifad fmys s gan | va |l asrd e 6 aed e
& |uF 2.5 fohan. 9 o9 o) s o e 999 a9 o S0 i dEe gEm T ufufs i 9 g
A o AY g9 3T 3961 U % o9 @Y F1 9@ oH o 0 U sende i 1 vy B v e
Afirhen =i faskfia T man 3 vk ad a= @i 500 fompei a2 Fme w39 e o v ad & 3
IR SO0 frsrsdi 8 | 24 forgrsdi 1 gy 21741 39 24 91 4 9 16 59 % 999 e asqare g o) gem
fasfi (ufufefuareriene) 3 favemm = are fed Feren 6 s & dag amr= asE s 1 e 4 se
o HHA FH asHl 1] 9y % 3 SR d 2 2 |

www.FirstRanker.com



» FirstRanker.com

A Firstranker's choice

www.FirstRanker.com www.FirstRanker.com

Question Number : 141 Question Id : 5362282300 Question Type : MCQ Option Shuffling

Correct Marks : 2 Wrong Marks : 0
e fagH (efutsfeitee ) g fom gr & sieraq gy fastaa fee man?

(1)  wmer (F4) e 2 GEm

(3)  ufdarfia (4) SAATHF

frrferfiaa 9 =9 |1 209 IR & HeTgq 1 oy 27

(1) Ao yaie 9 2 (2) md FH T
(3) U uftumy 1 33ET4E B g 2 (4) 7o R o foe 3ug

: No Is Question
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Trerferfiad 20 = =19 |1 29 s1egas wrEy & g ufeferd 27

(1) Heledd <1 (2) HAMHET

(3) g (il =) (4)  HAHTITIE g &

Treferfiaa g 4 =614 | 9ras Hre=d il geradl 1 5[ o fore gem faae (efatsgreife ) 3 3wr
fepan?

(1) feamy s (2) HRI AR (vdiegrad froe)

(3)  mwfae difaEy (4) STE S i (vfeydad foer)

FAUH HETH I H a1 s (vdieyeae ) stifias g e

1)  68%
3)  78%

2 74%
(4) 88%
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5362288977. 1
5362288978. 2
5362288979. 3
5362288980. 4
Sub-Section Number : 3
Sub-Section Id : 53622890
Question Shuffling Allowed : Yes

Question Id : 5362282305 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Gro
: No

Question Numbers : (146 to 150)

Question Label : Comprehension

Eead the following passage and answer the question which follow : (96-100)

An outbreak of water-borne disease was reported at village “"XYZ". The rapid response tear
conducted an outbreak investigation and found a “Well” as a common source to all cases. ]
was suggested to disinfect the water in the well, till then villagers were advised to conduc
household purification of water. Health workers explained the wvillagers about same. Th
necessary measurements of the well were taken. As per standard guidelines. the chlorin
demand of the water was calculated. The health workers dissolved the disinfecting agen
and delivered 1t into the well as per instructions given. After a necessary contact period, th
water was tested for the amount of residual chlorine in it. The same was found satisfactory.

What shall be the best suitable agent to disinfect the well?

(1) Chlorine tablets (2) Bleaching powder
(3) Iodine (4) Potassium Permanganate
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5362288983. 3
5362288984. 4

Question Number : 147 Question Id : 5362282307 Question Type : MCQ Option Shuffling : No Is Question
Correct Marks : 2 Wrong Marks : 0
What shall be the minimum contact period allowed (In minutes) before water 1s drawn fo

usage?
(1) 20 (2) 30
(3) 40 (4) 60
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Which of the following are household methods for purification of water?

(A)
(B)
(C)
(D)
(E)

Choose the correct answer from the options given below :

(1)
(2)
(3)

(4

High test hypochlorite
Berkefeld filter

Multi-stage reverse osmosis
Rapid sand filter

Permutit process

(A). (B) and (C) only
(B). (C) and (D) only
(C). (D) and (E) only

(A). (D) and (E) only
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Which equipments are used 1n the discussed process?

(A) Chloroscope

(B) Katadyn

(C) Horrock's Apparatus
(D)  Shng Psychrometer

Choose the correct answer from the options given below :
(1) (A) and (B) only
(2) (B) and (C) only
(3) (C) and (D) only
(4) (A) and (C) only

Which reagent 1s used 1n a test for assessment of the level of residual chlorine 1n processec

water?
(1) Orthotolidine (2) Chloramine
(3) Hydrogen sulphide (4) Ortho phthalaldehyde
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Question Id : 5362282305 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Gro
: No

Question Numbers : (146 to 150)

Question Label : Comprehension

1 T o s =i ufeu i e SR uwHl & 39 ffau : (96-100)

urg 4 XYZ U S sti=a sfardi o w1 Foqie wre 221 39 |a 9 o caifd Hiars a3 58 T F S )
#2 ar T Al araedi d ve gl & gae w21 22 g fem e 0 & a1 st TR s
arHioT = e e e o 9| qs 3 39 Bl 8 gl s gifasn ) e -t | g 28 e
18| 0 1 SAETIF G TR T g I FEe % SgEE O foe stEvass FeriE = g e
il 75| e FHHAT A FEFHIEFH AW 1 HE S SR e e e % sEn 0 4 e T gea
a1e HATAvAS Heh 19 o o8 TH1 U SFafyre FeliiH o1 9T 1 91 oF1H o fore g =6 s o6 781 i o6
ST HA TS T |

%0 % ST o oo Faiae iR 3uge Afaeee #= 2mm)|
(1)  FeliE = mef (2) Teafm =
(3)  SEEA (4) IEHTEY W
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g1 % S H o & veel Reifa =Han dud saf (fee2i 4) 20 a7

(1) 20 (2) 30
(3) 40 (4) 60
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T=fetfiad 4 sF -2l T & wad =i e faf 27
A)  ERIEAEE 3= Gl

B) @i e

(©) S = T

(D)  iaid FH

(E)  F9=9 gl

11 e 1 ferepdi § 9 et 3o g -
(1)  Fae (A). (B) 3R (C)

(2)  @ad (B). (C) 3 (D)

(3)  @%ad (C), (D) 3 (E)

(4)  =ad (A), (D) 3 (E)
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afuia ufsran 9 T su=ron =1 39aw fom mn 27

(A)  FARREEY

B)  FEA

(C) =i 39w

(D) e wrgsmer

1 foa T fake 4 9 |8 3 g

(1) @A (A) 31 (B)
(2)  #aE (B) W ()
(3) & (C) 31 (D)
(4) A (A) 3N (O)

gaTfed o 4 Sqafere Felifia = S 1 SR 1 o W ThEm ° fRe 1. s e i ad e TR s 27

(1)  sEiEEeEA (2) FATHTE
(3)  EESNHE HEFHEE (4) el dernfeese
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